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— Red-Black, Multicolor (MC)
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B 45+, D7 (coloring)
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T—RRFEDFERE =
B 45+, D7 (coloring)

s KTFMHEHF-LTWERH#=>RCIEIZE'DIT
(coloring) 5

. Fxt Bz @ DIt Red-Black Coloring (2)
1314 15|16 13 14 15 16
9 10|11 |12 9 10 11 12
516 |7 |8 5 6 7 8
11213 4 1 2 3 4

Numbering starts at 0 in the program, but

| would like to use this one starting at 1.
Please do not confuse !!




Red-Black (1/3)

#iprgma omp parallel for private (ip,i,k, VAL)

13 14 15 16 for (ip=0; ip<4; ip++) {
foréi?égEgé%i?]; lééggE¥Eip+1]; i++) {
|==
9 10 11 12 WAL = WIZITiT
o R
—= *k - ,
5 6 7 8 | . e
WIZI[i]l = WAL * W[DD][i];
1 2.3 4 }}l

#prgma omp parallel for private (ip, i, k, VAL)
for (ip=0; ip<4; ip++) {
for (i=INDEX[ip]: i<INDEX[ip+1]; i++) {
if (COLOR[i]|== “BLACK” ) {
WVAL = WLZI[i];
for (j=indexL[i]; j<indexL[i+1]; j++) {
WVAL —= AL[j] * W[Z][itemL[j]-1];

%[Z][i] = WVAL * W[DD][i];




Red-Black (2/3)

#orgma omp parallel for private (ip,i,k, VAL)
13 14 15 16 fgrg(|p0p|8<4 ip++) { P >
for (i=INDEXLip]; |<INDEX[|p+1], i++) {
it (COLOR[|]== ‘RED” ) {
WVAL = W[Z][i];
iy RN A
—= * I tem -171;
5 6 7 8 : :

}
W[ZI[i] = WVAL * W[DD][i];

9 10 11 12

1 2 3 4 P L

e [Red]EXZNIETHM, ABLIZKLIDIEINT
[Black &%
— RED:ZZFH L, BLACK: i A 1AH

« [RedIZEXRDAEZT S, [BlackIZEXZDA
@b\*bé_t(i,.\\b

T—RTFENEIEENSD




Red-Black (3/3)

13 18 15 16 DAL TES T E WS DTSR
HDIE I TRed I EX
ORLINRER _ RED AR BLACK: Z=HL

NN - [Black | ZZDEE T 5, TRed]
1 2 3 4 BEEXFOILFSINE oY IW«Fs:: IR

o THKREFHELEEINSD

#prgma omp parallel for private (ip, i, k, VAL)
for (ip=0; ip<4; ip++) {
for (i=INDEX[ip]; i<INDEX[ip+1]; i++) {
if (COLOR[i]== “BLACK” ) {
WVAL = W[Z][i];
for (j=indexL[i]; j<indexL[i+1]; j++) {
WVAL —= AL[ ] * W[Z][itemL[j]-1];

}
W[ZI[i] = WVAL * W[DD][i];
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Red-Black Ordering/Reordering

for (icol=0; 1<2; | ++) {
13 14 15 16 #S;aércr;lg omp ;Iag?allellggr private (ip, i, j, WAL)
o IRDEXT 1T T col1: i<INDEXCip+11icol]: i+4)
, + , +4
9 10 11 12 Sl = wiare pridiicold: |
for (j=indexL[i]; j<indexL[i+1]; j++) {
WVAL — AL[j] * W[Z][itemL[j]-1];

}
W[Z][i] = WVAL * W[DD][i];

5 6 7 8

1234

INDEX[O][0]= 0 INDEX[0][1]= 8 RISN-BERERN/
INDEX[11[0]= 2 INDEX[1]1[1]= 10 [ NP
15 7 16 8 INDEX[2]1[0]= 4 INDEX[2][1]= 12
INDEX[31[0]= 6 INDEX[3][1]= 14 R
5 13 6 14 INDEX[4]1[0]= 8 INDEX[4]1[1]= 16 RN

11 3 12 4 ° gg‘%%%—?&rRedJ = FBIaCkJ O)“LE 25
AIPSPTY  YIET (reordering, ordering) £701Y
SLNEEIZES GTEDERLESFLY)
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o THRITFIEDERIKIL?
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— Red-Black, Multicolor (MC)
— Cuthill-McKee (CM), Reverse-CM(RCM)
— F—=31) 27 EIER DR %R

s A—FIV T DRE
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— Red-Black #4—%1)> 5 (26) &

« CM;% (Cuthill-McKee), RCM;iZ (Reverse Cuthill-
McKee)
— fill-inZ& 59
- IR DRADNUREZERDT, TA77MIILERBLT
— A 511
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16
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MCEDERLZT LT X L

D IBERZH-EHIZEZ mIET S,

@ MHERFZFESAZEWVIEIZEWNIHIGERZ M mIE
EUVHLTEEL, XOBANED,

@ IEELE-EBEHMIZELT, £ THOEENERINDIET
Q%E#EYIRT,

@ BESOEVEEBCEZZBRES OIS (KENR
TIIHEEREZESHNELIE),




k468

MC

1311411516

9 |10 11]12




BIEINT=-MC%

D TP DEREZIFEREZES =11, [F16B1&L,
[BEDOhOEF3=11ET 5,




R# (degree) B RICHEEITLIRDHE

NAVAVA NI AVAVAN
VAYAYSRRVAYAY,



BIEINT=-MC%

D TRBIRNDNDODERZIHERES =11, IF11EL,
[BEDHO2=11ET B,

2 ITEMcou=ICELTOT/NCOLORtotIZ}H X3 B {ELZ &
ICEFENOERIET D,

@ ITEMcouf
EUOHT,

]

@ ITEMcouf

]

DRI G ERZNHEREBESHEWIRIS

DERMNEEINDD, HAWTRILIGESR
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EREBESDIEE), ACE EHnLizl#HIEZRxES
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MC;%: 3|
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MHNFEDI=ODA—F) T &

« CM;Z% (Cuthill-McKee), RCM;i% (Reverse Cuthill-
McKee)
— fill-inZ @59
— IR RADINVRIEZRST, TRAI7AILERST
— W) E
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CMEDERGETILT) X Ls

24

DREILARNIL=1]DRET D,

IOEAOLTIRYIRT,

D BRICHEET LSO ET XE (degree) |, T/INREL

@ TLANI=k-1JICEBTHEICHIETEIREILA)L=k]
ETAH  ETOHAIZLRNLDFRENAFETIkIFLID
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OMP-2

Cuthlll Mckee Ordering (CI\/I,f) 0)15!]

Level=1 Level=2 Level=3

LARIVIE(ZBLARILATIE
REDVEWE) ICHVUEZ

Level=1

Level=2 ‘, " Level=3

Level=1

Level=2  Level=3

Level=1 Level=2 Level<3



OMP-2

RCM (Reverse CM)

I CMDFIEZZEST
— ¥ (degree) DEtE
— LR (k(k=2)) IDEZEDEIR
— #BYUIRL, BE ST

IR BT
- CMOESHFHERICHIBICSYET
— Fill-inA’CM®D 5 & &Y D73<7H %
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CM: 16 fill-in’s

Level=1 Level=2 Level=3

RCM: 14 fill-in’s

\
\
\

*/ Level=1

Level=4 .Level=3 ! Level=2

27
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13|14
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11

N KiiE
JAJ74IJL 51

Fill-in

4

o4

LRV

Wi EEOms,

Fill-in
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JAREN I 4
JAJ7A4IL 46
Fill-in 44

B Non-zero,

Fill-in

29



JAREN I 4
JAJ7A4IL 46
Fill-in 44

B Non-zero,

Fill-in

30



CM, RCM: Hyperline (i+j=const.)

3D: Hyperplane (i+j+k=cons.)

13

14

15

10

11

I+]=5

31



BEIEINT=-CM%
W AET & [+

O BERICHEEITIERMZIREUEL, INRED
BREZILRIL=1JDERLET S,

@ TLARNIL=k-11DERICHEIETLIERZILAN)L=k]E
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EBIESh-=CM%

LARILDDIEWEIZHEUVEZ
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EBIESNT-CM%
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MCi%, CM/RCMIEDE LY

« CMATIE, BI—LANIL(B)ICHEITAZERDHEIL
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1 9 2
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o THRITFIEDERIKIL?

« A—4&1)>% (Ordering) [ZDLVT
— Red-Black, Multicolor(MC)
— Cuthill-McKee (CM), Reverse-CM(RCM)
— F—=F) T LK DEE

s A—FIV T DRE
« F—F YT FICCGENELE
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OMP-2

Incompatible Node #

ICCGIEM YR (&)

10000 ¢ 80
® 0 o
5 o
1000 70 © @ o ®
- %J o o
- 0 00 g9 o ®e
100 b K 60 ® ®
F o [ ]
C @ w
=
10 50
£ ] . ﬁ
1 u 2 A 000 40
1 10 100 1000 1 10 100 1000

COLOR# COLOR#

(203=8,000& %, EPSICCG=108)
(M:ICCG(L1), ®@:ICCG-MC, A:ICCG-CM, A :ICCG-RCM)
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OMP-2

IR EA—H )T DEEF (RaR)

» BRI=20°

* Red-Black ~ 4 < #HIKRE

P HAIREE

N Kiig
JOJ7AI)l
Fill-in

4%

N Kiig
JOJr7AI)l
Fill-in

o1
o4

10
o/
46

Red-Black

N Kiig
JOJrAI)l
Fill-in

CM, RCM

N Kiig
JAJrAI
Fill-in

~ CM, RCM

10
11
44

46
44

39



13|14

15

10

11

N KiiE
JAJ74IJL 51

Fill-in

4

o4

Initial Matrix

B Non-zero,

Fill-in

40



Red-Black (2-Colors)

15 7 16 8
o 13/ 6 14

1 3 12 4
1 9 2 10

AR N ] 10

JaJrAIL 711

Fill-in 44

B Non-zero, " Fill-in

41



JAREN I 10
JAJ7AIL 5T
Fill-in 46

MC (4-Colors)

m

B Non-zero,

Fill-in

42



JARIEN = 4
JAJ7AIL 46
Fill-in 44

B Non-zero,

Fill-in
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OMP-2 44

REEIEHEBHDEE

Incompatible Nodes& (& ?
DOi, S. (NEC) et al. R AIZEIT3

REOEDYS
D — T
(DG —— -
@645 —
O—O—@—©—@® it

52 EEZ (T4 mh T Incompatible Node |
BEDEZTHORKIYBLBESNEL, LD E
DITWE DR AR



CM(Cuthill-McKee) D154

™ o ©




OMP-2

Red-BlackDiZ&

it 51 P4 (X & L yAdincompatible node £

ILURETLIE, Gauss-Seidel T 1E

& O ®
QO D

388

e 6 0 66

O] £ 18 N
> ————-—0
-——1—0—
o——0—-—0
——1—0—]
o —'-—0—'—0@
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AEDIZE

it 5] 14 (X 55 F B Hlincompatible nodeld i 4>
ILURETILEE, Gauss-Seidel T/x 18 [EIEUR

0 ©® O = 0 S ——7——°
0@ B O —— g
2—0—® O

A g\ ’X‘ o "\

E

6
= ey
—0




—i%IZ, FTEEDEEI iE-ENS
EICCGED I E [FHEINS

- BEZL

o JNKIFE/

« Profile/]s
e Fill-ins7g0y
« Incompatible Node>7z 0y



— AR IZICCG;EDULE (X, fill-inAi
HWEDITOBEIZERLLGS(EXT)

« ICCG (IC(0)-CQ) [ZZHZHFill-inzEIRL TS
e Filllinm®Z<G58DITTIE, KYUZLDFill-inh
ey (RS
— Fill-inA &G 5B DIFIZH 1T AIC(0)E, Fill-inAS 7Ly
5D EHELTIFL
e Fill-inOoHmtINERIZEEFTERS
— ¥IEA1T I
— Red-Black (2f)

—



13|14

15

10

11

N KiiE
JAJ74IJL 51

Fill-in

4

o4

Initial Matrix

B Non-zero,

Fill-in
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Red-Black (2-Colors)

15 7 16 8
o 13/ 6 14

1 3 12 4
1 9 2 10

AR N ] 10

JaJrAIL 711

Fill-in 44

B Non-zero, " Fill-in

51



52

BHDOIRICHT HFE

« BT TREDAIDTTIEAL - BREME, thod
RICDODWTELEETHAVELNHS

« —HRRIGHERTECCEITHE

o 2EZEFEFE->TLSHITIE, RCMECMIET AL

A2, TAT7AIL, NUFRFEELREL/NTA—L{E
EEBIZHEH 5T RCMD YRR AE FE LY




OMP-2

=) DHME

c A—HF ) TIZEHT, THONEDIEEFENENLY,
mMohd TehE] AFoNnd,
— WHIEDMAME - BHIFHE, T FLHEAOBES M
— INEMNBL BB LH D,

e BIICRLI=&SLGEMOBIKTT L, #74—F1) 9
LAMTNIE, 5, NI FILIETELLY,

N e = E
() S =3
115N

— A —=FNTIZEOTEADNEDLDIELH D
- WRELTLLSME, BHFICAHATHIRVABEERTEZET S,
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500 T

® MC A RCM —CM-RCM ¢ Odyssey
o 1-CMG/12-cores,
RN 1283

| ~— (@:MC, A:RCM. -:CM-

450 :

/.

lteraions

300 |
[ A
§ terations RCM)
250 C C e
1 10 100 1000
Color #
10.00 2.0E-02 )
. A — - : ] -
- MC & ROM ——CW-RCM # Time/lteration
8.00 ® [

1.5E-02

6.00 | [ A
. _ ° _ ° /
I o o 1.0E-02

-
4.00 S L

SecC.

5.0E-03

200 |
8 Time (solver)
N S 0 OE400 NN e S
1 10 100 1000 1 10 100 1000
Color # Color #

® MC A RCM —CM-RCM

0.00




OMP-2 55

A=) FEDLLLES
=R R RE
o MCIFUEELY, FTFE BFITAHE (EBSEHE) HRE)

» Cyclic-Mulricoloring + RCM(CM-RCM) A& % (k)
[Washio et al. 2000]

90 280 ®
- o _
[ ¢ § Heterogeneous .
Ml Homogeneous rassrs - . o *
s 260
2 | o o ¢ 2 | °
o _ | °o® o
5 10 =
2 2 °
- O — 240 O
60 © A O ¢
A ° 5 o O 0
O O o O
- O
50 —t— —t— S 220
1 10 100 1000 1 10 100 1000
color # color # ® MC
O CM-RCM

3D Linear-Elastic Problems with 32,768 DOF A No reordering
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o THRITFIEDERIKIL?

« F—4&1)> % (Ordering) IZDULNT
— Red-Black, Multicolor(MC)
— Cuthill-McKee (CM), Reverse-CM(RCM)
— A —=31) 27 EIER DR

« )T DEE
« F—F YT FICCGENELE
e TILFATADZEZE (OpenMP) ~[]IFHT




OMP-2

:1r.

=R (ZSTIES
— RIVFHS—F—F)2%, CMi%, RCMi% (CM

— )R

TIX3H&ET)

S cd <$P-

S make
S cd .

L2>/coloring/src

./run

S ./L2-color
NX/NY/NZ ?

4 4
You have
How many
#COLOR
#COLOR
CM if
RCM if
CMRCM if
=>

 ZOEIIZAHNTS

16 elements.
colors do you need ?
must be more than 2 and
must not be more than
#COLOR .eqg. O
#COLOR .eqg.-1
#COLOR .le.-2

-L2-color

16

RT) DBEDTDT

734

RCMIZDUY

CD2RFTHRINZE BRI
EOFBDIT9 5,

1314|1516
9 |10 11 12
5| 6|7 |8
112|134




OMP-2 58

SN (2/2) ==

¢ 2DMIFAILHERINDS
— color.log AV 2B/ B DORIGER
1T B E R

— color.inp Ay aDBEDTI7AIL (ParaViewF)

A7:0 AA: 3 AN 4
(CM, 7 colors) (5 colors) (4 colors)



OMP-2

AA=0: CM(78)

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

15 oY

1214
S | 11
4 | 7

#tnew
#tnew
#tnew
#tnew
#tinew
#tinew
#tinew
#tinew
#tinew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew

O© OO OC1 A~ W —

#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old

—_—
O WO JdIPhoOOOwWOoOIN —

—_— ot — — —
SOOI B~ =

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

~No oo oThd,PRAA DB OLOOLOLODNND—

59



OMP-2

AA=0: CM(78)

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

15 oY

1214
S | 11
4 | 7

#tnew
#tnew
#tnew
#tnew
#tinew
#tinew
#tinew
#tinew
#tinew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew

O© OO OC1 A~ W —

#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old

—_—
O WO JdIPhoOOOwWOoOIN —

—_— ot — — —
SOOI B~ =

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

~No oo oThd,PRAA DB OLOOLOLODNND—
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OMP-2

A7

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

RCM(7&)

#tnew
#tnew
#tnew
#tnew
#tinew
#tinew
#tinew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew

—
S OO ~JdJo TR~ wWwnN —

—_— etk ) ) —t
SOk W =

#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old

16
15
12
14
11

13
10

— N OC1 OO © B~

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

~No oo oThd,PRAA DB OLOOLOLODNND—
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AN=3: ERIISB(TILFHT—)

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

#tnew
#tnew
#tnew
#tnew
#tinew
#tinew
#tinew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew

—
S OO ~JdJo TR~ wWwnN —

—_— etk ) ) —t
SOk W =

#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old

—
O JO1TPhADNDNOOOD W —

—_— etk ) ) )t —
CSIThAEA DN W —

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

CIE BB WOWWNDNNNN /2 = —= = =
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AN=3: ERIISB(TILFHT—)

63

#tinew 1 #old 1 color 1

13 14 15 16 #tnew 2 told 3 color 1
#tnew 3 fold 6 color 1

#tnew 4 fHold 8 color 1

9 10 11 12 #new 5 fold 9 color 1
#tinew 6 #old 2 color 2

#tinew 1 told 4 color 2

5 6 7 8 #tnew 8 t#old 5 color 2
#tnew 9 fold 1 color 2

#inew 10 #old 10 color 2

1 2 3 4 #inew 11 #old 11 color 3
#tnew 12  #old 13 color 3

#tnew 13 t#old 16 color 3

#tnew 14 #old 12 color 4

#tnew 15 #old 14 color 4

#tnew 16 #old 15 color 5

16/3=5

(5 AT DIMIL L EFRZITD
EHIEIZEIR
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A N=3: ERIEL5 (multicolor)

64

#tinew 1 #old 1 color 1

13 14 15 16 #tnew 2 told 3 color 1
#tnew 3 fold 6 color 1

#tnew 4 fHold 8 color 1

9 10 11 12 #new 5 fold 9 color 1
#tinew 6 #old 2 color 2

#tinew 1 told 4 color 2

5 6 7 8 #tnew 8 t#old 5 color 2
#tnew 9 fold 1 color 2

#inew 10 #old 10 color 2

1 2 3 4 #inew 11 #old 11 color 3
#tnew 12  #old 13 color 3

#tnew 13 t#old 16 color 3

#tnew 14 #old 12 color 4

#tnew 15 #old 14 color 4

#tnew 16 #old 15 color 5

16/3=5

(5 AT DIMIL L EFRZITD
EHIEIZEIR




OMP-2

AN=3: ERIISB(TILFHT—)

65

#tinew 1 #old 1 color 1

13 14 15 16 #tnew 2 told 3 color 1
#tnew 3 fold 6 color 1

#tnew 4 fHold 8 color 1

9 10 11 12 #new 5 fold 9 color 1
#tinew 6 #old 2 color 2

#tinew 1 told 4 color 2

5 6 7 8 #tnew 8 t#old 5 color 2
#tnew 9 fold 1 color 2

#inew 10 #old 10 color 2

1 2 3 4 #inew 11 #old 11 color 3
#tnew 12  #old 13 color 3

#tnew 13 t#old 16 color 3

#tnew 14 #old 12 color 4

#tnew 15 #old 14 color 4

#tnew 16 #old 15 color 5

16/3=5

I TG ERNETEST=0RD

B




OMP-2

AN=3: ERIISB(TILFHT—)

66

#tinew 1 #old 1 color 1

13 14 15 16 #tnew 2 told 3 color 1
#tnew 3 told 6 color 1

#tnew 4 fHold 8 color 1

9 10 11 12 #new 5 fold 9 color 1
#tinew 6 #old 2 color 2

#tinew 1 told 4 color 2

5 6 7 8 #tnew 8 t#old 5 color 2
#tnew 9 fold 1 color 2

#inew 10 #old 10 color 2

1 2 3 4 #inew 11 #old 11 color 3
#tnew 12  #old 13 color 3

#tnew 13 t#old 16 color 3

#tnew 14 #old 12 color 4

#tnew 15 #old 14 color 4

#tnew 16 #old 15 color 5

16/3=5

I TG ERNETEST=0RD

B




OMP-2

AN=3: ERIISB(TILFHT—)

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

#tnew 1 #old
#tnew 2 told
#tnew 3 fold
#tnew 4 fHold
#tinew 5 tfold
#tinew 6 #old
#tinew 1 told
#tnew 8 t#old
#tnew 9 fold
#tnew 10 #old
#tnew 11 #old
#tnew 12  #old
#tnew 13 t#old
#tnew 14 #old
#tnew 15 #old
#tnew 16 #old

16/3=5

= —_

=& B 251

—
O JO1TPhADNDNOOOD W —

—_— etk ) ) )t —
CSIThAEA DN W —

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

CIE BB WOWWNDNNNN /2 = —= = =

B INWETH-oT-
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OMP-2

AN=4: 48 (RILFHF—)

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

#tnew
#tnew
#tnew
#tnew
#tinew
#tinew
#tinew
#tinew
#tinew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew

O© OO OC1 A~ W —

#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old

O© JO1T A DNOOO LW —

—_— ek ) ) o ) —
SCITLWOWNOO A~ —

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

AR PBRROCOLWLWDNDNDNDNDNNN /= = ——
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T AAN=3: EREIFSB(TILFHT—)

color.log: 475! 83 H'I‘ﬁﬁliu

### INITIAL connect|V|tg 14 INL(i)= 2 INU(i)=
1 INU (i) = 2 IAL: 10 1
13 14 15 16 IALZ [AU: 15 _
IAU: 2 . . [= 15 INL(i)= 2 INU(i)=
I= 2 INLO): 1 INU(i)= 2 IAL: 1
IAL: 1 IAU: _ _
1 1 IAU: 3 6 . I= 16 L(i)= 2 INU(i)=
I= 3 INL (i)= 1 INU(i)= 2 IAL: 1
[AL: 2 [AU:
IAU: 4 1 .
I= 4 INL (i) = 1 INU(i)= 1
7 TR COLOR number 5
I= 5 INL (i)= 1 INU (i) = 2 #new 1 #old 1 color
IAL: 1 #new 2 #old 3 color
3 IAU: 6 9 , finew 3 #old 6 color
I= 6 INL(i)= 2 INU(i)= 2 #new 4 fold 8 color
[AL: 2 5 #new 5 told 9 color
IAU: 7 10 . #new 6 #old 2 color
[= 7 INL (i)= 2 INU(i)= 2 #new 1 #old 4 color
[AL: 3 6 #new 8 told 5 color
IAU: 8 11 . fnew 9 fold 1 color
I= 8 INL (i)= 2 INU (i) = 1 #new 10 #old 10 color
IAL: 4 7 #hew 11 #old 11 color
IAU: 12 _ _ #new 12 fold 13 color
I= 9 INL (i)= 1 INU (i) = 2 #new 13  #old 16 color
IAL: 5 #new 14 #old 12 color
IAU: 10 13 . #new 15 #old 14 color
I= 10 INL (i)= 2 INU (i) = 2 #thew 16 #old 15 color
IAL: 6 9
IAU: 11 14
I= 11 INL (i)= 2 INU(i)= 2
IAL: 7 10
IAU: 12 15 .
I= 12 INL (i)= 2 INU(i)= 1
IAL: 8 11
IAU: 16 . .
I= 13 INL (i)= 1 INU(i)= 1
IAL' 2

CIEPRWWWNINNPNN—=— —



T AD=3: EEIFSE (RILFHS—)

color.log: 175!/ BH3E

[=

I=

[=

13114 15|16
9 |10 11 |12
51678
112134

IAU:

IAL
[AU:
2
IAL:
[AU:
3
TAL:
TAU:
4
IAL:

6

6

14

INLU)=

### FINAL connect|V|ty
1 INL (i

1 9
INL(i)=

8 9
INL (i) =

9
INL (i) =
10
INL (i) =
2

INL (i)=
4

14

12
3

INL (i)=
3 9

INL(i)=
3 4

INL (i) =
5

15
INL (i)
10
16
INL(i)=

INL (i) =
16

0

0

10
0

0

INU(i)=
INU(i)=
INU(i)=
INU(i)=
INU(i)=
INU(i)=
INU(i)=
INU(i)=
INU(i)=
INU(i)=
INU(i)=
INU(i)=

INU(i)=

2 'l‘IEl *& AN jj

= 14 INL(D= 3  INUG)= O
AL 4 11 13

[AU: | |

= 156 INL()= 2 INUCi)= f
AL: 10 12

AU: 16 |

= 16 _ INL(D= 3  INU()= 0
AL: 11 15 13

[AU:



[L2-color | DYV —RXT7A)L

$ cd <$P-L2>/coloring/src

S 1s

14

15

16

10

11

12

2R RERDITT S,



Main Program

#include <stdio.h> ...

int
main(int argc, char **argv)
FILE *fp21;
int 1, ic, k;
if (POINTER_INIT()) goto error;
if((fp21 = fopen(“color. log”, “w”)) == NULL) {
fprintf (stderr, “Error: %s¥n”, strerror(errno));
} return -1;
i f (POI_GEN (fp21)) goto error;
i f (QUTUCD ()) goto error;
fprintf (fp21, “¥n¥nCOLOR number%8d¥n¥n”, NCOLORtot) ;
for (ic=1; ic<=NCOLORtot; ic++) {
for (i=COLORindex[ic—1]+1; i<=COLORindex[ic]; i++) {
} fprintf (fp21, ” #new%8d #old%8d color%8d¥n”,
J
(...)
fclose (fp21) ;
return O;
error:

return -1;

NEWtoOLD[i-1]+1,

ic);

72



MAIN
AMUIIN—F2

INPUT

HIH T 7 A L EEA
INPUT.DAT

Structure of L2-color

POINTER_INIT
Ay aT7AILERIA
mesh.dat

MC
RIVFHhS—FH—F)5

BOUNDARY_CELL
0=0ZRET DERDER

CM

Cuthill-McKee
A—F)5

CELL_METRICS
REIR, KIEFOFE

RCM

Reverse Cuthill-McKee
v s 27

POI_GEN
THARTTAETAER
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Main Program

#include <stdio.h> ...

int
main(int argc, char **argv)
FILE *fp21;
int 1, ic, k;
if (POINTER_INIT()) goto error;
if((fp21 = fopen(“color. log”, “w”)) == NULL) {
fprintf (stderr, “Error: %s¥n”, strerror(errno));
} return -1;
i f (POI_GEN (fp21)) goto error;
i f (QUTUCD ()) goto error;
fprintf (fp21, “¥n¥nCOLOR number%8d¥n¥n”, NCOLORtot) ;
for (ic=1; ic<=NCOLORtot; ic++) {
for (i=COLORindex[ic—1]+1; i<=COLORindex[ic]; i++) {
} fprintf (fp21, ” #new%8d #old%8d color%8d¥n”,
J
(...)
fclose (fp21) ;
return O;
error:

return -1;

NEWtoOLD[i-1]+1,

ic);
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struct.h

#ifndef _ H STRUCT
#tdefine __H STRUCT

#tinclude <omp.h>

int ICELTOT, ICELTOTp, N;

int NX, NY, NZ, NXP1, NYP1, NZP1, IBNODTOT;
int NXc, NYc, NZc;

double DX, DY, DZ, XAREA, YAREA, ZAREA;
double RDX, RDY, RDZ, RDX2, RDY2, RDZ2, R2DX, R2DY, R2DZ;
double *VOLCEL, *VOLNOD, #*RVC, *RVN;

int *kXYZ, **NEIBcell;

int ZmaxCELtot;

int *BC_INDEX, *BC_NOD;

int *ZmaxGEL;

int *kIWKX;
double **FCV;

int my_rank, PETOT, PEsmpTOT;
#endif /* __H STRUCT */

ICELTOT
B (NXXNYXNZ)

i 12

R

NX, NY, NZ

x,y, 2z FAIERHY

NXP1,NYP1,NZP1
x,y,z 3 FEi R

IBNODTOT
NXP1 XNYP1

XYZ[ICELTOT] [3]

BRER

NEIBcell [ICELTOT] [6]

R ER
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#tifndef
ftdefine

NL:

__H_PCG

__H_PCG

static int N2 = 256;

int NUmax, NLmax, NCOLORtot, NCOLORk, NU,

int METHOD, ORDER_METHOD;
double EPSICCG;

double *D, *PHI, *BFORCE;
double *AL, *AU;

int *INL, *INU, *COLORindex;
int *indexL, *indexU;

int *OLDtoNEW, *NEWtoOLD;
int *xk[AL, **]AU;

int *itemL, *itemU;

int NPL, NPU;

fendif /* __H PCG */

%5175 : BR{T3I

(

73D EHA D H & Hife)

= FEEORTDHZEEEIET B

F TSRS ER LIRS

pcg.h
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#ifndef __H PCG
#tdefine __H PCG
static int N2 = 256;

pcg.h

int NUmax, NLmax, NCOLORtot, NCOLORk, NU, NL;
int METHOD. ORDER_METHOD: fEBIAC S

double EPSICCG;

double *D, *PHI, +*BFORCE;

double *AL, *AU;

T=A7D JNES):
EXNARS TERLIVERES

HUNSLY,
int *INL, *INU, *COLORindex; IAL[i][icou] < i
int *indexL, *indexU;
int *0LDtoNEW, *NEWtoOLD; =S GIEE) -

int *k[AL, **]AU;

int *xitemL, *itemU;

int NPL, NPU;
#tendif /% __H PCG *x/

INL {ICELTOT}
IAL[ICELTOT] [NL]
INULICELTOT]
[AULICELTOT] [NU]
NU, NL

indexL [ICELTOT+1]
indexU[ICELTOT+1]
NPL, NPU

i temL [NPL], itemU[NPU]

ERARDTEHRLVERES
DRELY,
IAUJi[icou] > i

EFETZAMDTDH U
EET=AMS GIES)

FFEL=ZARITDH
FEFEL=AMS FIES)

EEFELT=ARRTDODHZRKRE (Z ZTIE6)

ZITDFRT =AM (CRS) L

FITDIEZTL=AB7TE (CRS)
EFLT=ZAMSTBNDEET (CRS)
HEET=AMS (FI1FS) (CRS)
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#ifndef _ H PCG

#tdefine _ H PCG ng . h

static int N2 = 256;
int NUmax, NLmax, NCOLORtot, NCOLORk, NU, NL;
int METHOD, ORDER_METHOD;

double EPSICCG: iUl
double *D, *PHI, *BFORCE; T=AR (FES):
double *AL, *AU; IAL[i][icou] <i
int *INL, *INU, *COLORindex: TOERA INL[]
int *indexL, *indexU;
int *OLDtoNEW, *NEWtoOLD; EF=AKS (F3EES) :
nt I A IAU[i][icou] > i
int *iteml, *itemU; S S .
int NPL, NPU; T OEZAAINUL]
#endif /* _H PCG */
INL {ICELTOT} EETFT=ARS O
TAL[ICELTOT] [NL] EEFET=AD BES) U
INU[ICELTOT] EEL=ARS DO
TAU[ICELTOT] [NU] EFEL=AD BES)
NU, NL EEFELT=ARTDEZKE (Z 2 TIE6)
indexL [1CELTOT+1] FITOFEET=AMSE (CRS) L
indexU[ICELTOT+1] LZ1TNDIEFLE=AR7%E (CRS)
NPL, NPU FELTFT=AKSBDEET (CRS)

itemL [NPL], i temU[NPU] LB ET=A/S (51FES) (CRS)



A =3 %B,Ji5@(multlcolor)

SE ,‘HE
color.loglZ17 5! B & |H$|§l__| A
### INITIAL connect|V|tg _ 14 INL(i)= 2 INU (i) =
1 INU (i) = 2 IAL: 10 13
13 14 15 16 IALZ [AU: 15 _
IAU: 2 . . [= 15 INL(i)= 2 INU(i)=
I= 2 INLO)= 1 INU(i)= 2 IAL: 11 14
IAL: 1 IAU: 16 _
1 1.1 -122 IAU: 3 6 . I= 16 INL(i)= 2 INU(i)=
9 0 =73 TIN)= 1 ING= 2 AL 12 15
[AL: 2 [AU:
IAU: 4 1 .
I= 4 INL (i) = 1 INU(i)= 1
7 TR COLOR number 5
I= 5 INL (i)= 1 INU (i) = 2 #new 1 #old 1 color
IAL: 1 #new 2 #old 3 color
3 IAU: 6 9 , finew 3 #old 6 color
I= 6 INL(i)= 2 INU(i)= 2 #new 4 fold 8 color
[AL: 2 5 #new 5 told 9 color
IAU: 7 10 . #new 6 #old 2 color
[= 7 INL (i)= 2 INU(i)= 2 #new 1 #old 4 color
[AL: 3 6 #new 8 told 5 color
IAU: 8 11 . fnew 9 fold 1 color
I= 8 INL (i)= 2 INU (i) = 1 #new 10 #old 10 color
IAL: 4 7 #new 11 #old 11 color
IAU: 12 _ _ #new 12 fold 13 color
I= 9 INL (i)= 1 INU (i) = 2 #new 13  #old 16 color
IAL: 5 #new 14 #old 12 color
IAU: 10 13 . #new 15 #old 14 color
I= 10 INL (i)= 2 INU (i) = 2 #thew 16 #old 15 color
IAL: 6 9
IAU: 11 14
I= 11 INL (i)= 2 INU(i)= 2
IAL: 7 10
IAU: 12 15 .
I= 12 INL (i)= 2 INU(i)= 1
IAL: 8 11
IAU: 16 . .
I= 13 INL (i)= 1 INU(i)= 1
IAL: 9
IAU: 14

CIEPRWWWNINNPNN—=— —



OMP-2

AF=3: %B“ld:5@(mult|color) ’

color.loglZ1
### FINAL connectivity
1314|1516 | Iy 1 0
IAL
IAU: 6 8
[= 2 INL(|)=
9 | 10|11 12| I
IAU: 6 7 9
I= 3 INL(i)=
6 g o
7 = 4 INL()=
5 § — 8 AL:
=0 =
= I:
[AL:
1 213 |4 IAU: 8 10 12
I 6 INL(i)=
IAL: 1 2 3
IAU: |
I 1 INL (i)=
[AL: 2 4
IAU: |
I 8 INL(i)=
IAL: 1 3 5
IAU: _
I= 9 INL (i)=
IAL: 2 3 4
IAU: 11 .
I= 10 INL (i)=
IAL: 3 9
IAU: 11 15
I= 1 INL (i)=
[AL: 9 10
IAU: 14 16
[= 12 INL (i)=
IAL: 5
[AU: 15
[= 13 INL(i)=
IAL:
[AU: 14 16

175 BEE R R -

173

. I= 14 INL(i)= 3 INUCi)= O
0 INU(i)= 2 mh 4 11 13
. [= 15 INL(i)= 2 INUCGi)= 1
0 INUCi)= 3 IAL: 10 12
[AU: 16
_ [I= 16 INL(i)= 3 INU (i) 0
0 INU(i)= 4 mh 11 15 13

10
0 INUCI)= 3

0 INUCI)= 3
3 INUCi)= O
2 INUC)= O
3 INUCi)= O
3 INU(i)= 1
2 INUCI)= 2
2 INUCI)= 2
1 INU(i)= 1

0 INUCI)= 2



OS5 LD

#include <stdio.h> ...

int
main(int argc, char *xargv)

FILE *fp21;
int i, ic, k;

if (POINTER_INIT()) goto error;

if ((fp21 = fopen(“color. log”, “w")) ==
fprintf (stderr, “Error: %s¥n”,
return -1;

}
i f (POI_GEN (fp21)) goto error;
i f (OUTUCD ()) goto error;

fprintf (fp21, “¥n¥nCOLOR number%8d¥n¥n”,

for (ic=1; ic<=NCOLORtot; ic++) {

NULL) {
strerror (errno)) ;

NCOLORtot) ;

for (i=COLORindex[ic-1]+1; i<=COLORindex[ic]; i++) {

fprintf (fp21, ” #new%8d #old%8d color%8d¥n”,

J
|

(...)

fclose (fp21) ;
return 0;

error:
return -1;

NEWtoOLD[i-1]+1,

ic);

81



82

pointer_init (1/3)

#include <stdio.h>
#include <stdlib. h>

#include <string.h> L
#tinclude <errno. h> )
#include “struct_ext.h” /1
#include “pcg_ext.h” 7

#include "|oointer_init.h”N 4

#include “allocate. h” "////'
extern int - > NY

I?OINTER_INIT(void) NX

int icel, ipe, i, j, k;

fprintf (stderr, “input NX NY NZ=>¥n");
fscanf (stdin, “%d%d%d”, &NX, &NY, &NZ);
fprintf (stderr, “NX=%d NY=%d NZ=%d¥n”, NX, NY, NZ2);

ICELTOT = NX * NY * NZ;

NXP1 = NX + 1;
NYP1 = NY + 1;
NP1 = NZ + 1;

NEIBcel |l =
(int *%x)allocate_matrix (sizeof (int), ICELTOT, 6) ;

XYZ =
(int *%x)allocate _matrix (sizeof (int), ICELTOT, 3) ;

NX,NY, NZ

x,v,zHFIERE

NXP1l,NYP1l,6KNZP1
x,y,zAREI R

ICELTOT
B (NXXNY XNZ)

XYZ[ICELTOT] [3]

BREE

NEIBcell [ICELTOT] [6]

rEER




for (k=0; k<NZ; k++) {

for (J=0; J<NY; j++)
I KNX;

J
J

“icel” starts at 0 | “NEIBcell” starts at 1

for (i=0;
icel =k * NX %« NY + j * NX + i;

J

NEIBcell[icel][0]
NEIBcell[icel][1]
NEIBcel | [icel] [2]
NEIBcel | [icel] [3]
NEIBcel | [icel] [4]
NEIBcglIg;cel][5]
— gg(—n NE1Bcel I [icel]
— g;{—n NE1Bcel I [ice!]
if(k == NZ-1) NEIBcell[icel]

XYZ[icel][0]
XYZ[icel][1]
XYZ[icel][2]

i (i
i (i
i
it(J

i f(k

12113 14|15
81910 11
4 |5 |6 |7
0(1]2]3

pointer_

{

i++) |

icel - 1
icel + 1
icel — NX
icel + NX
icel — NX
icel + N
NEIBcel | [icel]

— e ) — — —

<=

T+ + 4+ + o+

*
*
]
]
%
NEIBcel | [icel] %

X
[
NEIBceII[iceI]E
[
[

SO OO O

0
1
2
3
4
5

— ) —

+ + +

i|
j
K

13|14 15|16
9 10|11 12
5|6 |78
11234

it (2/3)

NEIBcell[icel][5]

i= XYZ]icel][0]

83

NEIBcell[icel][3]

NEIBcell[icel][1]

j= XYZ[icel][1], k= XYZ[icel][2]

icel= K*NX*NY + [*NX + i

NEIBcell[icel][0]= icel — 1
NEIBcell[icel][1]=icel + 1

NEIBcell[icel][2]= icel — NX
NEIBcell[icel][3]= icel + NX

+ 1
+ 1
+ 1
+ 1

NEIBcell[icel][4]= icel — NX*NY + 1
NEIBcell[icel][5]= icel + NX*NY + 1




pointer_in

if (DX <= 0.0) {
DX = 1.0 / (double)NX;
DY = 1.0 / (double)NY;
DZ = 1.0 / (double)NZ;

J

NXPT = NX + 1;

NYPT = NY + 1;

NZP1 = NZ + 1;

IBNODTOT = NXP1 * NYP1;
N = NXP1 * NYP1 * NZP1;

return 0;

t (3/3)

NXP1, NYP1, NzP17&&EIXUCD
T7A4ILEAIIHE
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Main Program

#include <stdio.h> ...

int
main(int argc, char **argv)
FILE *fp21;
int 1, ic, k;
if (POINTER_INIT()) goto error;
i ((fp21 = fopen(“color. log”, “w”)) == NULL) {
fprintf (stderr, “Error: %s¥n”, strerror(errno));
} return -1;
i f (POI_GEN (fp21)) goto error;
i f (OUTUCD()) goto error;
fprintf (fp21, “¥n¥nCOLOR number%8d¥n¥n”, NCOLORtot) ;
for (ic=1; ic<=NCOLORtot; ic++) {
for (i=COLORindex[ic—1]+1; i<=COLORindex[ic]l; i++) {
} fprintf (fp21, ” #new%8d #old%8d color%8d¥n”,
J
(...)
fclose (fp21) ;
return O;
error:

return -1;

NEWtoOLD[i-1]+1,

ic);
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#include “allocate. h”
extern int
EOI_GEN(VOid)

int nn;

int 1c0, icN1, icN2, icN3, icN4, icN5, icN6;

int 1, Jj, k, ib, ic, ip, icel, icou, icol, icouG;
int i1, Jj, kk, nnl, num, nr, jO, j1;

double coef, VOLO, S1t, E1t;

int isL, ielL, isU, ieU;

NL=6; NU= 6;

IAL = (int *x)allocate matrix(sizeof (int), ICELTOT, NL) ;
IAU = (int *x)allocate matrix(sizeof (int), ICELTOT, NU) ;

INL = (int *)al locate_vector (sizeof (int), ICELTOT) ;
INU = (int *)al locate_vector (sizeof (int), ICELTOT) ;

for (i = 0; i <ICELTOT ; i++) {
BFORCE[i]=0.0;
D[i] =0.0; PHI[i
INLLi] = 0; INULI
for (j=0; j<6; j++) {

86

poi_gen (1/4)

/ Kkskkakkskkskokkkokkokkkkokkokkkkkok

A 5 . | locate matri al locate. c
[ALLi] [J]_O [AULi][5]=0; **:**:::*:*E:*;Li*********/

] voidx* al locate_matrix(int size, int m, int n)

for (i = 0; i <=ICELTOT ; i++) { { void **aa;

indexL[i] = 0; indexU[i] = 0; int i;

f ( (aa=(void ** )malloc( m * sizeof (voidx) ) ) ==

NULL ) {

fprintf (stdout, “Error :Memory does not enough! aa in matrix ¥n”);

exit(1);

f ( (aal[0]=(void * )malloc( m * n * size ) ) ==

NULL ) {

fprintf (stdout, “Error :Memory does not enough! in matrix ¥n”);

exit(1);

for (i=1;i<m; i++) aalil=(charx)aali-1]+size*n;

return aa,



for (icel=0; icel<ICELTOT; icel++) {

icN1 = NEIBcell[icel][0];
icN2 = NEIBcel |l [icel][1];
icN3 = NEIBcel |l [icel][2];
icN4 = NEIBcel |l [icel][3];
icN5 = NEIBcel |l [icel][4];
icN6 = NEIBcel |l [icel][5];

if(icN5 1= 0) {
icou = INL[icel] + 1;
IAL[icel][icou-1]

if(icN3 1=0) {
icou = INL[icel] + 1;

IAL[icel]l[icou-1] = icN3;

} INL[icel] = icou;
if(icN1 1= 0) {
icou = INL[icel] + 1;
IAL[icel]l[icou-1] = icN3;
INL[icel] = icou;

}

= icNb;
INL[icel] = icou;
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NEIBcell[icel][5]

NEIBcell[icel][0]

|2

X

NEIBcell[icel][2] *
NEIBcell[icel][4]

T=ARS

NEIBcell[icel][4]= icel —

NEIBcell[icel][2]= icel —
NEIBcell[icel][0]= icel — 1

“icel” starts at 0 @ “lIAL” starts at 1

NEIBcell[icel][3]

NEIBcell[icel][1]

NX*NY + 1

NX

+ 1

12113

89 |10 11
4 | 5|6 |7
0O(1]2]3

1011 (12
6|7 |8
21 3|4




for (icel=0; icel<ICELTOT; icel++) {

icN1 = NEIBcell[icel][0];
icN2 = NEIBcell[icel][1];
icN3 = NEIBcel |l [icel][2];
icN4 = NEIBcel |l [icel][3];
icN5 = NEIBcel |l [icel][4];
icN6 = NEIBcell[icel][5];

if(icN2 1= 0) {
icou = INU[icel] + 1;

IAU[icel][icou-1] = icN2;
| INU[icel] = icou;
if(icNd 1= 0) {

icou = INU[icel] + 1;

IAU[icel][icou-1] = icN4;
} INU[icel] = jicou;
if(icN6 1= 0) {

icou = INU[icel] + 1;

IAU[icel][icou-1] = icN6;

INU[icel] = jcou;

}
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NEIBcell[icel][5]
NEIBcell[icel][3]

NEIBcell[icel][0] NEIBcell[icel][1]

Z) y NEIBceII[iceI][Z]*
Z, NEIBcell[icel][4]

X

=/
NEIBcellficel][1]= icel + 1 +1

NEIBcell[icel][3]= icel + NX  + 1
NEIBcell[icel][5]= icel + NX*NY + 1

“icel” starts at 0 @ “IAU” starts at 1
14 | 15 13114 15| 16

12|13
89|10 11 9 11011 12
4 156 |7 5|6 |78

0123 112134




N111:

fprintf (stderr, “¥n¥nYou have%8d elements¥n”, ICELTOT) ;
fprintf (stderr, “How many colors do you need ?¥n”);
fprintf (stderr, © #COLOR must be more than 2 and¥n”);
fprintf (stderr, #COLOR must not be more than%8d¥n”,
fprintf (stderr, if #COLOR= 0 then CM ordering¥n”);
fprintf (stderr, if #COLOR=-1 then RCM ordering¥n”);
fprintf (stderr,
fprintf (stderr, “=>¥n");

fscanf (stdin, “%d”, &NCOLORtot);

i f (NCOLORtot == 1 && NCOLORtot > ICELTOT) goto N111;

OLDtoNEW = (int *)cal loc (ICELTOT, sizeof(int));
i f (OLDtoNEW == NULL) {

ICELTOT) ;

if #COLOR<-1 then CMRCM ordering¥n”);

fprintf (stderr, “Error: %s¥n”, strerror (errno));

return -1;

]
NEWtoOLD = (int *)calloc (ICELTOT, sizeof(int));
i f (NEWtoOLD == NULL) {

fprintf (stderr, “Error: %s¥n”, strerror(errno));

return -1;

]
COLORindex = (int *)calloc (ICELTOT+1, sizeof (int));
i f (COLORindex == NULL) {

fprintf (stderr, “Error: %s¥n”, strerror(errno));

return -1;

i f (NCOLORtot > 0) {
MC (ICELTOT, NL, NU, INL, TAL, INU, IAU,

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

} else if (NCOLORtot == 0) {
CM(ICELTOT, NL, NU, INL, IAL, INU, IAU,

} else if (NCOLORtot ==-1) {
RCM(ICELTOT, NL, NU, INL, IAL, INU, IAU,

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW);

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

} else if(NCOLORtot <-1) {
CMRCM (ICELTOT, NL, NU, INL, IAL, INU, IAU,

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

J

fprintf(§tderr, “¥n#t TOTAL COLOR number%8d¥n”, NCOLORtot) ;

return 0
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N111:

fprintf (stderr, “¥n¥nYou have%8d elements¥n”, ICELTOT) ;
fprintf (stderr, “How many colors do you need ?¥n”);
fprintf (stderr, © #COLOR must be more than 2 and¥n”);

ICELTOT) ;

fprintf (stderr, ” #COLOR must not be more than%8d¥n”,
fprintf (stderr, ” if #COLOR= 0 then CM ordering¥n”);
fprintf (stderr, “ if #COLOR=-1 then RCM ordering¥n”);
fprintf (stderr, ” if #COLOR<-1 then CMRCM ordering¥n”) ;

fprintf (stderr, "=>¥n");
fscanf (stdin, “%d”, &NCOLORtot) ;
i f (NCOLORtot == 1 && NCOLORtot > ICELTOT) goto N111;

OLDtoNEW = (int *)cal loc (ICELTOT, sizeof(int));
i f (OLDtoNEW == NULL) {

fprintf (stderr, “Error: %s¥n”, strerror(errno));

return -1;

}
NEWtoOLD = (int *)cal loc (ICELTOT, sizeof (int));
i f (NEWtoOLD == NULL) {

fprintf (stderr, “Error: %s¥n”, strerror(errno));

return -1;

}
COLORindex = (int *)calloc (ICELTOT+1, sizeof(int));
i f (COLORindex == NULL) {

fprintf (stderr, “Error: %s¥n”, strerror (errno));

return -1;

}

i f (NCOLORtot > 0) {
MC (ICELTOT, NL, NU, INL, IAL, INU, IAU,

} else if (NCOLORtot == 0) {
CM(ICELTOT, NL, NU, INL, IAL, INU, IAU,

} else if (NCOLORtot ==-1) {
RCM(ICELTOT, NL, NU, INL, IAL, INU, IAU,

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW);

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

} else if(NCOLORtot <-1) {
CMRCM (ICELTOT, NL, NU, INL, IAL, INU, IAU,

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

J

fprintf(gtderr, “¥n#t TOTAL COLOR number%8d¥n”, NCOLORtot);

return 0

90
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i f (NCOLORtot > 0) {
MC (ICELTOT, NL, NU, INL, TAL, INU, IAU, pOI gen

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

} else if (NCOLORtot == 0) {
CM(ICELTOT, NL, NU, INL, IAL, INU, IAU, 4/4
&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

} else if (NCOLORtot ==-1) {
RCM(ICELTOT, NL, NU, INL, IAL, INU, IAU,
&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW);
} else if (NCOLORtot <-1) {
CMRCM (ICELTOT, NL, NU, INL, IAL, INU, IAU,
&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

J

fprintf (stderr, “¥n# TOTAL COLOR number%8d¥n”, NCOLORtot) ;
return 0;

INL, INU, IAL, IAU BEESMITEDBEHRMSAS
OLDtoNEW, NEWtoOLD HIHERBESRRE

NCOLORtot BE(ANELRILMNEN LY KRELLGD)
COLORindex [NCOLORtot+1] COLORindex[ic]h'bH

COLORindex[ic+1]-1F CHE R (BE ST
R)MWMic+1 |1 BZBDBICFRET S
BCBOERITE NI 155 A4
A7OTSLATIIEESIIN IHDSELE




COLORindex [NCOLORtot+1] COLORindex[ic]h'H
COLORindex[ic+1]-1FETHNEXR (BE ST
BIMWic+11BHDORBICATET S

RICEDERIIELNIHIL : W55 E AT EE
ATOYUSLATHEESIEM N ME

for (ic=1; ic<=NCOLORtot; ic++) {
for (i=COLORindex[ic-1]+1; i<=COLORindex[ic]; i++) {
fprintf (fp21, “#new%8d #old%8d color%8d¥n”,
i, NEWtoOLD[i-1]+1, ic);

} COLOR number

5
} #new 1 tfold 1 color 1
#tnew 2 told 3 color 1
#tnew 3 told 6 color 1
#tnew 4 #old 8 color 1
#tnew 5 t#old 9 color 1
#tinew 6 fold 2 color 2
ftnew 1 told 4 color 2
#tnew 8 f#old 5 color 2
#tinew 9 fold 1 color 2
- ftnew 10 #old 10 color 2
COLOR"‘]deX H#new 11 #old 11 color 3
#tnew 12  #old 13 color 3
ftnew 13  #old 16 color 3
#tnew 14  #old 12 color 4
#tnew 15 #old 14 color 4
92 #tnew 16 #old 15 color 5
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BIEINT=-MC%

D TRBIRNDNDODERZIHERES =11, IF11EL,
[BEDHO2=11ET B,

2 ITEMcou=ICELTOT/NCOLORtotIZ}H X3 B {ELZ &
ICEFENOERIET D,

@ ITEMcouf
EUOHT,

]

@ ITEMcouf

]

DRI G ERZNHEREBESHEWIRIS

DERMNEEINDD, HAWTRILIGESR

NESES =L BH-DAV U 2=21ELTE2BAED,
B® ETHERNERINGETO, @F#EYERT,

® =RHERHAIFIDEENCOLORtEL, BES

DEVERIZERZHES DI 2 (ZFEATEHAH
EREBESDIEE), ACE EHnLizl#HIEZRxES




#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <errno.h>

#include “mc. h”

int

MC(int N, int NL, int NU, int *INL, int **[AL, int =*INU,

int *NCOLORtot, int *COLORindex,

int NCOLORK;

int *IW, *INLw, *INUw;

int *x]ALw, s*x]AUw;

int INmin, NODmin, ITEMcou;

int i, Jj, k, icon, icou, icouk,

{

int *NEWtoOLD,

icoug, icol, ic,

int *x]AU,
int *0LDtoNEW)

ik, JL, ju;

mc (1/8)
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IW = (int *)calloc(N, sizeof(int));
if (IW == NULL) f{

fprintf (stderr, “Error: %s¥n”,

strerror (errno)) ;
return -1;

}
NCOLORk = *NCOLORtot;

for (i=0; i<N; i++) {
NEWtoOLD[i] = i;
OLDtoNEWLi] = i;

J

INmin = N;
NODmin = -1;

for (i=0; i<N; i++) {
icon = INL[i] + INU[i];
if (icon < INmin) {
INmin = icon;
NODmin = i;
}
}

OLDtoNEW[NODmin]
NEWtoOLD[O ]

memset (IN, 0, sizeof (int)*N) ;
IWINODmin] = 1;

ITEMcou = N / NCOLORK;

1;
NODmin+1;

95
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}YFV(TW(iEtNﬁ)Lf?l I{oc (N, sizeof(int)); mC (2/8)

fprintf (stderr, “Error: %s¥n”,
strerror (errno)) ;
return -1;

J
NCOLORk = *NCOLORtot;

for (i=0; i<N; i++) {
NEWtoOLD[i] = i;
OLDtoNEWLi] = i;

J

INmin = N;
NODmin = -1;

for (i=0; i<N; i++) {
icon = INL[i] + INULi];
if (icon < INmin) {
INmin = icon;

} NODmin = i New mesh ID of NODmin is setto 0
} Color ID of NODmin is set to 1

OLDtoNEW[NODmin] = 1;

memset (IW, 0, sizeof (int)*N); NEWtoOLD [ 0O]= NODmin+l
IWINODmin] = 1;

ITEMcou = N / NCOLORK; IW[NODmin]=1: Color ID



IW = (int %)calloc(N, sizeof(int));
if(IW == NULL) {

fprintf (stderr, “Error: %s¥n”,

strerror (errno)) ;
return -1;

J
NCOLORk = *NCOLORtot;

for (i=0; i<N; i++) {
NEWtoOLD[i] = i;
OLDtoNEWLi] = i;

J

INmin = N;
NODmin = -1;

for (i=0; i<N; i++) {
icon = INL[i] + INULi];
if (icon < INmin) {
INmin = icon;
NODmin = i;
J
}

OLDtoNEW[NODmin]
NEWtoOLD[O ]

memset (IW, 0, sizeof (int)*N) ;
IWINODmin] = 1;

ITEMcou = N / NCOLORk;

1;
NODmin+1;

mc (2/8)

ITEMcou= N/NCOLORKk:

FRICEFNIERVDELR
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INPUT=3: MC, 5-Colors

#tinew 1 #old 1 color 1

13 14 15 16 #tnew 2 told 3 color 1
#tnew 3 fold 6 color 1

#tnew 4 fHold 8 color 1

9 10 11 12 #new 5 fold 9 color 1
#tinew 6 #old 2 color 2

#tinew 1 told 4 color 2

5 6 7 8 #tnew 8 t#old 5 color 2
#tnew 9 fold 1 color 2

#inew 10 #old 10 color 2

1 2 3 4 #inew 11 #old 11 color 3
#tnew 12  #old 13 color 3

#tnew 13 t#old 16 color 3

#tnew 14 #old 12 color 4

#tnew 15 #old 14 color 4

#tnew 16 #old 15 color 5

16/3=5 = ITEMcou

RSBV ETHOT-

gy LIF-OIYTIFTEDS




icou = 1;

icouK = 1;

for (icol=0; icol<N; icol++) {
NCOLORKk = icol + 1;
for (i=0; i<N; i++) |

ifC(IWLi] <= 0) IW[i] = 0:}

for (i=0; i<N; i++) {
/* already COLORED*/

if(IW[i] == icol+1) {
for (k=0; k<INL[il;

ik = IALLI.
i F(IWLik=1]

for (k=0; k<INUJ
ik = TAUL]
i F(IWLik=1]
}

/* not COLORED */
(Wi == 0) |

[k];
(=

[i];
[k];
(=

icou++; icouK++;

IW[i] = icol +
for (k=0; k<INL]
ik = TAL[i]
i f(IW[ik-1_

}

for (k=0; k<INU[i
ik = TAULi] [Kk];
i F(IW[ik-1] <=

1;
i1

k++) |
0) IW[ik-1]
k++) |
0) IW[ik-1]

I k)
0) IW[ik-1]
;_k++) {

0) IW[ik-1]

}
if(icou == N) goto N200;
i f (icouK == [TEMcou) goto N100;

}
N100:
ilcouk = 0;

J
N200:

mc (3/8)

ho U ZHERE

icou

icouK :
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lcou = 1;
icouk = 1;

for (icol=0; icol<N; icol++) [ [NMeleJoNelgNM@Telle]g
NCOLORk = icol + 1;

for (i=0; i<N; i++) {
if(IW[i] <= 0) IW[i] = 0;}
for (i=0; i<N; i++) {
/* already COLORED*/
if(IW[i] == icol+1) {
for (k=0; k<INL[i]; k++) {

ik = TAL[i][k];
if(IW[ik-1] <= 0) IW[ik-1]

for (k=0; k<INU[il; k++) {
ik = TAULi][K]:
it (IW[ik-1] <= 0) IW[ik-1]

J

/* not COLORED */
if(IWLi] == 0) {
|cout+; icouK++;
IW[i] = icol + 1;
for (k=0; K<INL[i]; k++) {
ik = TAL[i][k];
i f(IW[ik-1] <= 0) IW[ik-1]

J
for (k=0; k<INU[il; k++) |
ik = TAULi][K]:
T (IW[ik-1]1 <= 0) IW[ik-1]

}
if(icou == N) goto N200;
i f (icouK == [ITEMcou) goto N100;

N100:
icouK = 0;

J
N200:

I
I
—

[
I
—

[
I
—

I
I
—

mc (3/8)
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lcou = 1;

icouk = 1;

for (icol=0; icol<N; icol++) {
NCOLORk = icol + 1;
for (i=0; i<N; i++) {

if(IW[i] <= 0) IW[i]l = 0;}

for (i=0; i<N; i++) {
/* already COLORED*/

if(IW[i] == icol+1) {
for (k=0; k<INL[i];

ik = IALLI]
i F(IWLik=1]

for (k=0; k<INUJ
ik = TAUL]
i F(IWLik=1]
}

/* not COLORED */
(Wi == 0) |

[k];
(=

[i];
[k];
(=

icou++; icouK++;

IW[i] = icol +
for (k=0; k<INL]
ik = TAL[i]
i f(IW[ik-1_

}

for (k=0; k<INU[i
ik = TAULi] [Kk];
i f(IW[ik-1] <=

1;
i1

k++) |
0) IW[ik-1]
k++) |
0) IW[ik-1]

I k) |
0) IW[ik-1]
;_k++) {

0) IW[ik-1]

}
if(icou == N) goto N200;
if (icouK == [TEMcou) goto N100;

N100:
icouK = 0;

J
N200:

mc (3/8)

IREDBIMEINCOLORKIET D,

BOFENTLVEWERDI 1w
DEZ0ET B,
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lcou = 1;
icouk = 1;
for (icol=0; icol<N; icol++) {
NCOLORk = icol + 1;
for (i=0; i<N; i++) |
if(IWLi] <= 0) IW[i] =0;}
for (i=0; i<N; i++) {
/* already COLORED*/
if(IW[i] == icol+1) {
for (k=0; k<INL[il;
ik = TIAL[i] [k]
if(IW[ik-1] <=

for (k=0; k<INU[i],
ik = TAU[i] [K]

i (IW[ik-1] <=

}

/* not COLORED */
if (IW[i] == 0) {
lcou++; 1couk++;
IW[i] = icol + 1;
for (k=0; k<INL_i];

ik = TAL[i] [k];

i f(IW[ik-1] <=

J
for (k=0; k<INU[i];
ik = TAU[i] [K]

if(IW[ik-1] <=

Loop on Colors

k) |
0) IWLik-1] = -1;
k) |
0) IW[ik-1] = -1;
) |
0) IW[ik-1] = -1;
k) |
0) IW[ik-1] = -1;

}
if(icou == N) goto N200;

i f (icouK ==

N100:
icouk = 0;

J
N200:

ITEMcou) goto N100;
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lcou = 1;
icouk = 1;
for (icol=0; icol<N; icol++) {
NCOLORk = icol + 1;
for (i=0; i<N; i++) |
if (IN[i] <= 0) IW[i] = 0;}
for (i=0; i<N; i++) {
/* already COLOREDx*/
iT(IW[i] == icol+1) {
for (k=0; k<INL[i]; k++) {
ik = TAL[i][k];
if(IW[ik-1] <= 0) IW[ik-1]

for (k=0; k<INU[il; k++) {
ik = TAULi][K]:
it (IW[ik-1] <= 0) IW[ik-1]

J
/* not COLORED */

if(IW[i] = 0) {
icout++; icouK++;
IW[i] = icol + 1;
for (k=0; k<INL[il; k++) {
ik = IAL[i][k];

if (IW[ik-1] <= 0) IW[ik-1] = -1;

for (k=0; k<INU[il; k++) {
ik = TIAULi][k];

if (IW[ik-1] <= 0) IW[ik-1] = -1;

}
if(icou == N) goto N200;
i f (icouK == [TEMcou) goto N100;

N100:
icouk = 0;

J
N200:

I
I
—

[
I
—
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if IW[i]=0:

eicou =icou+l
e icouK=icouK+1
eIW[i]=icol+l:

Color ID

eIW[ik]=-1 wWhere ik-th mesh
Is adjacent to i-th mesh



lcou = 1;

icouk = 1;

for (icol=0; icol<N; icol++) {
NCOLORk = icol + 1;
for (i=0; i<N; i++) {

for (i=0; i<N; i++) {
/* already COLORED*/ _
if(IW[i] == icol+1) {
for (k=0; K<INL[i1; k++) {
ik = IALLi][K];
if(IW[ik-1] <= 0) IW[ik-1]

for (k=0; k<INU[il; k++) {
ik = TAULi][K]:
it (IW[ik-1] <= 0) IW[ik-1]

J

/* not COLORED */
if(IW[i] == 0) {

lcou++; 1couK++;

IW[i] = icol + 1;

for (k=0; K<INL[i]; k++) {
ik = TAL[i][k];

} i T (IW[ik-1] 0) IWLik-1]

for (k=0; k<INU[i]; k++) {
ik = TAULi] [k];
i f(IW[ik-1] <= 0) IW[ik-1]

}
if(icou == N) goto N200;
if (icouK == [TEMcou) goto N100;

} icouK = 0;
N200:

104
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icou : Global Counter
icouK: Intra-Color Counter

BERHMOHDO R (icou)h
[N(ICELTOT) IZBAT-bIL—T%
RTH(EEZDBFHITTET),

BRDHI2Z(icouk) M ITEMcou]
#HBAT=-Hlicouk=0]ELTERDOEA
%%,

[icouK < ITEMcoul CGHliIA NIz
BZEL-L R GERNESILELNVDT)
RDEAFES,



INPUT=3: MC, 5-Colors

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

#tnew
#tnew
#tnew
#tnew
#tinew
#tinew
#tinew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew

—
S OO ~JdJo TR~ wWwnN —

—_— etk ) ) —t
SOk W =

16/3=5

(5 AT DIMIL L EFRZITD
EHIEIZEIR

#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old

—
O JO1TPhADNDNOOOD W —

—_— etk ) ) )t —
CSIThAEA DN W —

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

CIE BB WOWWNDNNNN /2 = —= = =
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INPUT=3: MC, 5-Colors

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

#tnew
#tnew
#tnew
#tnew
#tinew
#tinew
#tinew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew

—
S OO ~JdJo TR~ wWwnN —

—_— etk ) ) —t
SOk W =

16/3=5

(5 AT DIMIL L EFRZITD
EHIEIZEIR

#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old

—
O JO1TPhADNDNOOOD W —

—_— etk ) ) )t —
CSIThAEA DN W —

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

CIE BB WOWWNDNNNN /2 = —= = =
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INPUT=3: MC, 5-Colors

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

#tnew
#tnew
#tnew
#tnew
#tinew
#tinew
#tinew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew

—
S OO ~JdJo TR~ wWwnN —

—_— etk ) ) —t
SOk W =

16/3=5

JRILIFERH

B

#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old

—
O JO1TPhADNDNOOOD W —

—_— etk ) ) )t —
CSIThAEA DN W —

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

CIE BB WOWWNDNNNN /2 = —= = =

ECTEH =6 RD
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INPUT=3: MC, 5-Colors

1314|1516
9 |10 11 |12
5| 6|7 |8
112|134

#tnew
#tnew
#tnew
#tnew
#tinew
#tinew
#tinew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew
#tnew

—
S OO ~JdJo TR~ wWwnN —

—_— etk ) ) —t
SOk W =

16/3=5

JRILIFERH

B

#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old
#old

—
O JO1TPhADNDNOOOD W —

—_— etk ) ) )t —
CSIThAEA DN W —

color
color
color
color
color
color
color
color
color
color
color
color
color
color
color
color

CIE BB WOWWNDNNNN /2 = —= = =

ECTEH =6 RD
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/ *kkkkskkokkokkokkkkkokkok

* Final Coloring *
sookokokkkokRRokF kK Fok oK /

*NCOLORtot = NCOLORK:

memset (COLORindex, 0, sizeof (int)*(N+1));

icoug = 0;
for (ic=1; ic<=(*NCOLORtot); ic++) {
icou = 0;
for (i=0; i<N; i++) {
if (IW[i] == ic) {
NEWtoOLD [icoug]
OLDtoNEW[i]
| cou++;
lcoug++;

}
}
COLORindex[ic] = icou;

1+1;
icoug+1;

J

for (ic=1; ic<=(*NCOLORtot); ic++) {
} COLORindex[ic] += COLORindex[ic-1];

mc (5/8)

NCOLORtot= NCOLORKk:
Final number of colors.

NCOLORtot g.e. (Initial

number of colors provided by
user)

BOTERTL-EATOEBH
[NCOLORk |ZE{XHITEBEET S,
A—H—NMHIZEREL-BHERLC
MENELY ZLEEHTLNS,
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/ *kkkkskkokkokkokkkkkokkok

* Final Coloring *
sookokokkkokRRokF kK Fok oK /

*NCOLORtot = NCOLORKk;

memset (COLORindex, 0, sizeof (int)*(N+1));

icoug = 0;
for (ic=1; ic<=(*NCOLORtot); ic++) |
icou = 0;
for (i=0; i<N; i++) {
if(IW[i] = ic) {
NEWtoOLD[icoug] = i+1;
OLDtoNEWT[i] = jcoug+l;
icout+;
lcoug++;

J

}
} COLORindex[ic] = icou;

for (ic=1; ic<=(*NCOLORtot); ic++) {
} COLORindex[ic] += COLORindex[ic-1];

110

mc (5/8)

FTEZDRIZKE-ST, BAFSDLEL
Ab, BRODBESHITZEITED.

OLDtoNEW[O1ldID]= NewID+1
NEWtoOLD [NewID]= 01ldID+1
starting@”1”

DA TIXICcOLORindex |IZIF& &
DEZRHMNAOTINS,



/ *kkkkskkokkokkokkkkkokkok

* Final Coloring *
sookokokkkokRRokF kK Fok oK /

*NCOLORtot = NCOLORKk;

memset (COLORindex, 0, sizeof (int)*(N+1));

icoug = 0;
for (ic=1; ic<=(*NCOLORtot); ic++) {
icou = 0;
for (i=0; i<N; i++) {
if (IW[i] == ic) {
NEWtoOLD [icoug]
OLDtoNEW[i]
| cou++;
lcoug++;

}
}
COLORindex[ic] = icou;

1+1;
icoug+1;

J

for (ic=1; ic<=(*NCOLORtot); ic++) {
} COLORindex[ic] += COLORindex[ic-1];

mc (6/8)

COLODindex[ic]:

Now it is 1D index.

111



INLw = (int *)calloc(N, sizeof(int));

if (INLw == NULL) {

fprintf (stderr, “Error: %s¥n”,

return -1;

b...

for (j=0; j<NL; j++) |
for (i=0; i<N; i++) |

IW[i] = TAL[NEWtoOLD[i]-11L[j];

#or(i:O: i<N; i++) {
IALLiTCj] = IWLi];

}

for (j=0; j<NU; j++) |
for (i=0; i<N; i++) |

IW[i] = TAU[NEWtoOLD[i]-11L[j];

#or(izo: i<N; i++) {
IAULITCj] = IWLi];

~ j=1~NL/NU

i=1~N

112

strerror (errno)) ; mC (6/8)

D — VB DESE

e INLw[N]
e ITNUw [N]
eTALw[N] [NL]
e TAUw([N] [NU]

Lower/upper components
(column ID) are reordered
according to new numbering.

ID’s of column ID are by old
numbering.

ET=ARN%E, HILLWESHITFIC
HKOTANEZS. L T=ARS
ZDLDDBESFZDFEE,
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for (i=0;_i<N; i++) { mC (7/8)

IW[i] = INL[NEWtoOLD[i1-11; , ‘
b or (=00 iN: i) FT=ATDOEE, HFLWLWESFITIC
INLwlil = IW[il; E-TANEZS,

for (i=0; i<N; i++) {
IW[i] = INU[NEWtoOLD[i]-1];

b ori=0: N i) | INLE U R TINLw [CH8T 5
INUwL[il = IW[il; INUZHUE Z TINUw IZ2HENT 5,

for (j=0; j<NL; j++) {
for (i=0; i<N; i+ |
if (IALLi][j]1 = 0) {
IALw[i]l[j] = 0;
} else {
IALw[i][j] = OLDtoNEW[IAL[iI[j1-11;

J
J

for (j=0; j<NU; j++) {
for (i=0; i<N; i++) |
if(TAULII[]] = 0) {
IAUWLil[j] = 0;
} else
IAUW[i]1[j] = OLDtoNEW[IAULiIL[j1-11;
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for (i=0; i<N; i++) { C (7/8)
IW[i] = INL[NEWtoOLD[i]-1];

for (i=0; i<N; i++) {
} INLwli] = IWLi];
for (i=0; i<N; i++) {
} IW[i]l = INU[NEWtoOLD[i]-11;
for (i=0; i<N; i++) {
INUwLi] = IWLil;

for(ij;:O:(_jéNL;<I{'l++)_ {) { FT=/Apa%E, FILLWESHTITFIC
=0; T+ 4> = —
or :f(IAll_[i;l[j]. —0) | E-THLWESIZHITEZ S,
IALw[i][j] = O;
} else {
IALWw[i]l[j] = OLDtoNEW[IALLi]L[j1-1]; IALw, TAUW ':%mj—é
}
]

for (j=0; j<NU; j++) {
for (i0; i<N; i++) {
if (IAULIT[j] == 0) {
IAUW[i][j] = O;
] else {
IAUWLi][j] = OLDtoNEW[IAULi]L[j1-1];



memset (INL, 0, sizeof (int)*N) ;

$em%¢téINUZNO,.sige?f(int)*N);
=0; S i+t
o r:1emse1|:(IALl[i], 0, sizeof (int)*NL) ;} mC (8/8)

for (i=0; i<N; i++) |
memset (IAULi], 0, sizeof (int)*NU);}
{

for (i=0; i<N; i++)

iL = 0;
iU=0:;
I 1 NS
wli | + = AR
| IAU[i][.ilJJ] = TALw[i][j]; bEHEDT =HAS TV S,
JU++;
} else {
1ﬁL[i][jL] = IAwLilLj];
++, \ . .
} . for (i=0; i<N; i++) |
} jL = 0;
for (j=0; j<INUw[il; j++) { %U ?'96- i<INLw[il; j++) |
if(mHVE.[]i][Lﬂ% ? };ﬂf[-{][-]. o f?(iAﬂw[i]ij]I > f+1) {
jlees o R IAULTTTUT =
} else { o IALw[i][Jj];
IALLi][jL] = TAUw[il[]]; jU++;
S } else |
} elSse . .
) IALLII[GL] =
INLLi] = jL; IALw[i][]];
} INULi] = jU; JL++;
ree(INln Free (INUW) :
froe (IALW) | Froe (IAUN) | } Because IALw[i] [4§] could
ceturn 0: be larger than i according to

} new numbering.



COBRENDBEGIER

Original 5 Color

INL[7-1]= 2 INL[9-1]= 3

IAL[6][0]= 3, IAL[6][1]= 6 [AL[8][0]= 2, IAL[8][1]= 3
[AL[8][2]= 4

INU[7-1]= 2

IAU[6] [0]= 8, IAU[6][1]=11 INU[9-1]= 1

[AU[8][0]=11

BESMITICE O THEEREOKR/PMEREEDLOTLEI=D
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memset (INL, 0, sizeof (int)*N) ;
memset (INU, 0, sizeof (int)*N) ;
for (i=0; i<N; i++) {
memset(IAL[l] 0, sizeof (int)*NL) ;}
for (i=0; i<N; i++) {
memset (IAU[i], 0, sizeof (int)=*NU) ;}

for (i=0; i<N; i++) {
jL = 0;
ju = 0;
for(J =0; J<INLw[il; j++) |
T (IALWLIT[i]™> |+1) {
IAULI][jU] = TALwlil[i];
JU++;
} else {
IALLIT[4L] = TALwlil[j];
JL++;
}
J

for (j=0; j<INUw[il; j++)
if(TAUWLi][]] |+1
TAUCITT 01 = TAUWLIT[)];
JU++;
} else |
IALLi][jL]
JL++;

I\

IAUWLi][4]:

jL;
jU;
free (IW) ;

free (INLw) ; free (INUw) ;
free (IALw) ; free (IAUw) ;

return 0;

} J
INL[i]
INULi]

c (8/8)

117

HELED E=ZAMTIT-WT HUNE,



memset (INL, 0, sizeof (int)*N) ; 118

$em%¢téINUZNO,.si§e?f(int)*N);
=0; i<N; i++
o r:1emse1|:(IAL|[i], 0, sizeof (int)*NL) ;} mC (8/8)
for (i=0; i<N; i++) |
memset (IAULi], 0, sizeof (int)*NU);}
{

for (i=0; i<N; i++)
jL = 0;
ju = 0;
for (j=0; j<INLw[il; j++) {
i f(TALw[i][j] > i+1)
IAULI] [ U] = TALwLil[j];
JU++;
} else {
IALLi][jL]
JL++;
}
}

for (j=0; j<INUW[il; j+T) {

IALw[i][jl;

I f(TAUWLiILj] > i+
IAULITT 0T = TAUWLIT[T;
JU++;

} else {

IALLIT[L] = TAUWLiD[4]: _

} It “Final” number of upper/lower
oo components (column ID) in the
INLLi] = jL; :

| INULiT = jU; renumbered new matrix.
Free tinia free (INUW) |
froe (IALW) | Froe (IAUN) | *INL
e INU
return 0; -
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— CMOBESHMTZEIZHEIBICAYET
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cm (1/5)

#include <stdio.h>
#include <stdlib.h>
#include <string. h>
#include <errno.h>

#include “rcm. h”

extern int
CM(int N, int NL, int NU, int *INL, int *xIAL, int *INU, int *xIAU,
: int *NCOLORtot, int *COLORindex, int *NEWtoOLD, int *OLDtoNEW)

int *xIW;

int *INLw, *INUw;

int *x]ALw, s*x]AUw;

int KC, KCT, KGCTO, KMIN, KMAX;

int JC, JN;

int I1;

int i, j, k, ic, jL, jU;

int INmin, NODmin;

int icon, icol, icouG, icou, icou0, in, inG;



IW = (int **¥)calloc(2, sizeof (int %)) ;
if (IN == NULL) {

fprintf (stderr, “Error: %s¥n”, strerror (errno));

return -1;

for (i=0; i<2; i++) |
IW[i] = (int *)calloc(N, sizeof (int)):

INmin N;
NODmin = -1;

for (i=0; i<N; i++) {
icon = 0;
for (k=0; k<INLLi]; k++) {
con++;

}
for (k=0; k<INU[i1: k++) {
icon++;

if(icon < INmin) {
INmin = icon;
NODmin = i;

J
i f (NODmin == -1) NODmin = O;
IW[1][NODmin] = 1;

NEWtoOLD[0] = NODmin+1;
OLDtoNEW[NODmin] = 1;

icol = 0;

cm (2/5)

IW[O][i]:

Work array

IW[1][4i]:
“Level ID” of each mesh
starting at “1”

123
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}V]!(?W(igtNﬁt)Lgal{loc(Z, sizeof (int %)) ; Cm (2/5)

fprintf (stderr, “Error: %s¥n”, strerror(errno));
return -1;

for (i=0; i<2; i++) {
IW[i] = (int %)calloc(N, sizeof (int));

INmin = N;
NODmin = -1;
for (i=0; i<N; i++) {
icon = 0;
for (k=0; k<INL[il: k++) {
} icon++;
for (k=0; k<INULi]: k++) {
icon++;
if(%ﬁon < INmin) { NODmin :
NODmin = i; EHEERB (R IA=/IDD
BRTIFER

J
i f (NODmin == -1) NODmin = O;
IW[1][NODmin] = 1;

NEWtoOLD [0]
OLDtoNEW [NODmin]

$QDmin+1;

icol = 0;



125

IW = (int *%)calloc(2, sizeof (int %)) ; 2/5
i T (IW == NULL) { CI I I (
fprintf (stderr, “Error: %s¥n”, strerror(errno));
return -1;

for (i=0; i<2; i++) {
IW[i] = (int %)calloc(N, sizeof (int));

INmin = N;
NODmin = -1;
for (i=0; i<N; i++) |

icon = 0;

for (k=0; K<INLLil; k++) |

} |con++,

for (k=0; K<INULIT; k++) |

|con++,
if(icon < INmi
T i New mesh ID of NODmin
) = e is set to 0.

J Level ID of NODmin is set to 1
i T (NODmin == -1) NODmin = O;
IW[1] [NODmin] = 1: OLDtoNEW [NODmin]= 1
NEWtoOLD [0] NODmi n+1; NEWtoOLD [ 1]= NODmin+1

OLDtoNEW [NODmin] - 1
icol = 0; IW[1] [NODmin]=1: Level ID
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%3?‘2?0311;; icol<N; icol++) { Cm (3/5)

icou = 0;
0=0,
%g?%f(glwﬁl]v[ i+4) | Ny icouG : EADHI A
| I’(k:(l) RZI&'E%I], k++) { icou - l/&)l/qua)jjrbsjg
FawnTtint] = o)
"UNHILin1] = ~Cicol + 1) LAILIICET 2L—T
i cou++;

IW[O] [icou-1] = in;

}
for (k=0; k<INU[i]; k++)
in = IAU[i][k];
if (IN[1]1[in-1] == 0) {
IW[1][in-1] = -(icol + 1);
|cou++,
IW[O] [icou-1] = in;

J
}
J

if(icou == 0) {
for (i=0; i<N; i++) {
if(IW[1ILi] == 0) {
icou++;
IW[1][i 1 = -(icol + 1);
IN[O] [icou-1] = i + 1;
break;



icouG = 1;

for (icol=1; icol<N; icol++) {
icou = 0;
icou0 = 0;

for (i=0; i<N; i++) |
if(IN[1TLi] == icol) {
for (k=0; Kk<INL[il; k++) {
in = IAL[i][k];
if(IN[1]1[in-1] == 0) {

IN[1][in-1] = -(icol + 1);

icou++;
IW[0] [icou-1] = in;

#or(k=0: KSINULi]; k++) {
in = TIAULi][k]:
if (IW[1][in-1] == 0) {

IW[11[in-1] = -(icol + 1);

icou++;
IW[0] [icou-1] = in;

}
J
J

if(icou == 0) {
for (i=0; i<N; i++) {
if(IW[1ILi] == 0) {
i cou++;
IW[1][i ] = -C(icol + 1);
IWN[O] [icou-1] = i + 1;
break;

127

cm (3/5)

icouG : DA A
icou : UNILADAH A

LA IATOREERICEHTHIL—T

[in-1]BB DAV ah i 1BBD
Ay alZfEREL, IW[1] [i]=icol
(FTELARILES :icol) THY, lNin-
1IBEDAYD2DLANILDREST
WEITFNIE, Tin-11FBBH DAY ald
[1col+1 ] BFEBDLANILIZES HAEE
M d,

eIW[1l] [in-1]= - (icol+1)
ejcou= icou + 1

eIW[O] [icou-1]= in: _DEIZFI
[CIETR O lIBEFEIZHEASN D

mesh, color: 0H S ELS
IAL[][:]: 1Hh5EE
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What does it mean ?

131141516
icouG : DA H
9110111 112 icou : ULANILADAIUZ
516|178 [LRIINJATHOREFRICEETHIL—T
21314 [in-11FB DAY amT1i 1 FBED
Ay a[TBEREL, TW[1] [i]=icol
icol=4-1 (FAEBLARILEE :icol) THY, Nin-

1IBEDAYD2DLANILDREST
WEITFNIE, Tin-11FBBH DAY ald
[1col+1 ] BFEBDLANILIZES HAEE
M d,

eIW[1l] [in-1]= - (icol+1l)
ejcou= icou + 1

eIW[O] [icou-1]= in: _DEIZFI
[CIETR O lIBEFEIZHEASN D

IW[1] [1]= icol-1=2: i=3,6,9

mesh, color: 0H S ELS
IAL[][:]: 1Hh5EE
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_\ - What does it mean ?

15116
icouG : DA H
101 11 | 12 icou : LRNILADADO A
6l 718 (LA INTOEERICEHTHIL—T
2 | 3 ‘ 4 [in-11B/EDAY a2 li | BFBD
Ay alZHEL, TW[1] [i]=1icol
jcol=4-1 (FEE[/&)'/%%IJ_CO:L)-G%U, rin—

R o e LIBEDAYS2DLANILAREST
IW 1 - 1_1_2. _3, 6,9 S ~
[11[2]= 1co * WEEFRIE, Tin-1)BEH DAy alE

IW[1][ 3(= 4-1)]= -4 [icol+1 BB DLANIIZET HElRE

IW[1][ 6(= 7-1)]1= -4 EFA T

IW[1][ 9(=10-1)]= -4 ¢IW[1l] [in-1]= —(icol+l)

IW[1][12(=13-1)]= -4 ejcou= icou + 1 _
eIW[0] [icou-1]= in: _ D&l

IW[0] [0]= 4 IZIEXT RO IIEFITHEAINS

IW[O] [1]= 7
IW[O] [2]= 10
IW[O] [3]= 13

mesh, color: 0H S ELS
IAL[][:]: 1Hh5EE



icouG = 1;
for (icol=1; icol<N; icol++) {
ilcou = 0;
icou0 = 0;
for (i=0; i<N; i++) {
|f(IW[1][| == jcol) {
for (k=0; k<INL[i]; k++) {
in = IAL[i][k];
if(IW[1][in-1] == 0) {

IW[1][in-1] = =(Cicol + 1);

icou++;
IW[O] [icou-1] = in;

#or(k:O; K<INU[i]; k++) {
in = TAU[i][k];
if(IW[1]1[in-1] == 0) {

IW[1][in-1] = =(icol + 1);

I cou++;
IW[O] [icou-1] = in;

J
}
J

if(icou == 0) {
for (i=0; i<N; i++) {
if(IW[11[i] = 0) {

icou++;

IWL1] [ ] = =(icol +1);

IW[O] [icou-1] =i + 1;
break;
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cm (3/5)

icouG : EERDODAHH A
icou : URNILADAH A

HL icou=0 &fiof=n, FF-FTEL
NILHWRELGEVWERDHATHRVER
BENNENVEDEEVET (BEIE
ZDIL—TILBESELY)



for (icol=1; icol<N; icol++) {

for (ic=0; ic<icou; ict+) |
inC = IW[0][ic];
if(IW[11[inC-1] '= 0) |
for (k=0; k<INL[inC-1]; k++) {
in = IAL[inC-1][K];
if(IW[1][in-1] <= 0) |
IW[1][in-1] = O;

]
for (k=0; k<INULinC-1]; k++) {
in = IAU[inC-1] [k];
if(IW[1][in-1] <= 0) {
IW[1][in-1] = 0;

J
J
J

for (ic=0; ic<icou; ic++) |
inC = IW[0][ic];
F(NCT LinG-1] 1= 0)
| couG++;
IN[1][inC-1] = icol + 1,

}
ff(icouG == N) break;
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cm (4/5)

FTEL AN icol IDIEFEELZEHOTLNVS
BEDHBE SN TEICTHERIASN TS

eIW[0] [ic], ic= O~icou

FTEL AN icol DIE#HEELEHDTLVNVSE
RICEEL TV IEREEHN DT

9 (BEEIDIERFRLIEXRCLAILIC
XBT HIEMTEELY)

ZDIOLBEFRInIZDONTIE, TEED
FERFERTIT B!

*IW[1l] [in-1]= O



e.g.
Mesh (1) belongs to (icol-1)tk

level

ESNSSEMENSE

FTEL AN icol IDIEFEELZEHOTLNVS
BEDHBE SN TEICTHERIASN TS

eIW[0] [ic], ic= O~icou

FTEL AN icol DIE#HEELEHDTLVNVSE
RICEEL TV IEREEHN DT

9 (BEEIDIERFRLIEXRCLAILIC
XBT HIEMTEELY)

ZDIOLBEFRInIZDONTIE, TEED
FERFERTIT B!

*IW[1l] [in-1]= O

2



(2),(4) and (5) are candidates for
(icol)tt |evel

IW[1] [2-1]= - (icol+1l)
IW[1] [4-1]= - (icol+1l)
IW[1] [5-1]= - (icol+1l)

IW[1][0]
IW[1][1]
IW[1l] [2]

&N

EDLNDTEMELVDE

FTEL AN icol IDIEFEELZEHOTLNVS
BEDHBE SN TEICTHERIASN TS

eIW[0] [ic], ic= O~icou

FTEL AN icol DIE#HEELEHDTLVNVSE
RICEEL TV IEREEHN DT

9 (BEEIDIERFRLIEXRCLAILIC
XBT HIEMTEELY)

FOIOTEZFRInIZDOLNTIE, TEED
KR EZEEITITSH:

*IW[1l] [in-1]= O
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Considering dependency:

IW[1] [2-1]= - (icol+1l)
IW[1] [4-1]= - (icol+1l)
IW[1] [5-1]= O

IW[1][O0]= 2
IW[1] [1]= 4
IW[1] [2]= 5

EDLNDTEMELVDE

FTEL AN icol IDIEFEELZEHOTLNVS
BEDHBE SN TEICTHERIASN TS

eIW[0] [ic], ic= O~icou

FTEL AN icol DIE#HEELEHDTLVNVSE
RICEEL TV IEREEHN DT

9 (BEEIDIERFRLIEXRCLAILIC
XBT HIEMTEELY)

FOIOTEZFRInIZDOLNTIE, TEED
KR EZEEITITSH:

*IW[1l] [in-1]= O
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for (icol=1; icol<N; icol++) {

for (ic=0; ic<icou; ic++) {
inC = IW[0] [ic];
if(IW[1]1[inC-1] '=0) {

for (k=0; k<INL[inC-1]; k++)

in = TAL[inC-1] [k];
if(IW[1][in-1] <= 0) {
IW[1][in-1] = 0;

J
for (k=0; k<INU[inC-1]; k++)

in = TAULinC-1] [k];
iT(IW[1][in-1] <= 0) {
IW[1][in-1] = 0;

J
J
J

for (ic=0; ic<icou; ic++) |
inGC = IW[0][ic];
if (IW[1][inC-1] 1= 0) {
i couG++;
IW[1][inC-1] = icol + 1;

}
ff(icouG == N) break;

cm (4/5)

icouG : EHRDAH A
icou : URNILADAH A

IW[1] [inC-1]=- (icol+l), &
I ERIinCHAERBIZLRNILES
[icol+1JIZARET 3.,

FDEOIEAY21inCIZRLTTEED
FIIZT 5:

IW[1l][inC-1]= icol + 1.

icouG= icouG + 1
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ESNS3TEMENSE

Considering dependency:
IW[1] [2-1]= - (icol+1l)

IW[1l] [4-1]= —(icol+l) IW[1] [inC-1]=- (icol+l), &

W] [01= 2 fﬁ%iﬁf@éﬁ?lw&»ﬁ%

IW[1][1]= 4 +C0 - o

mlLiial=s ZFDEIEAYT2inCIZRHLTTEED
Finally: FII1=TS:

IW[1l][2-1]= icol

IW[1] [4-1]= icol IW[1] [inC-1]= icol + 1.

icouG= icouG + 1




for (icol=1; icolN: col++) | cm (4/5)

for (ic=0; icCioou;_ic+)
" Eﬁﬁlﬁ[ﬁ“ﬁ??%!i+o>{{ icouG : £HDAYILE
" or (k=07 K<INLLinG=11; kee) | icou : LAILADAI A

in = TAL[inC-1] [k];
if(IW[1][in-1] <= 0) {
IW[1][in-1] = 0;

}
for (k=0; k<INU[inC-1]; k++) {
in = TAULinC-1] [k];
iT(IW[1][in-1] <= 0) {
IW[1][in-1] = 0;

J
J

i o e 1 couG=NELSTUIVED, 2ERD
R N T ELARILAREST-CEIZHDD
i (INL1][inC-1] 1= 0) { T, 8T
icouG++; » < 1o
} IW[1][inC-1] = icol + 1;
} FOTHWEE(X, LR ILEE—D

}if(icouG == N) break: EOLT, ERE#RET S,
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/xxkkokkskkokokkkokokokkkok /

/* FINAL COLORING */

/xxkkokkskkokokkkokokokkokok /

*NCOLORtot = icol + 1;
icouG = 0;

for (ic=1; ic<=(*NCOLORtot); ic++) {
icou = 0;
for (i=0; i<N; i++) {
if(IW[1][i] = ic) {

NEWtoOLD[icouG] i+1;
OLDtoNEW[ i ] icouG+1;
icout++;
| couG++;

]
} COLORindex[ic] = icou;

COLORindex[0] = 0;

for (ic=1; ic<=(*NCOLORtot); ic++) {
COLORindex[ic] = COLORindex[ic-1] +
} COLORindex[ic];

/ skkekkekkokkokkkkkokkokkkk

* MATRIX transfer *
sokokoksfoksdokoksdokFokFokkokok /

138

cm (5/5)

icouG=NEE =R THDLARNIIL#icolZs
LN JLEL NCOLORtot & 3B,

LSEBERBLARIIZHKST, LRNILEED
WIEWADIS, BEREOBEESTTETES,

OLDtoNEW[old ID]= new_ ID + 1
NEWtoOLD [new_ID]= old_ID + 1

CODEE AR TIEICOLORindex JIZITR B
DEZRHMNAOTLS,



/xxkkokkskkokokkkokokokkkok /

/* FINAL COLORING */

/xxkkokkskkokokkkokokokkokok /

*NCOLORtot = icol + 1;
ilcouG = 0;

for (ic=1; ic<=(*NCOLORtot); ic++) {
icou = 0;
for (i=0; i<N; i++) {
if(IW[1][i] == ic)
NEWtoOLD [ i couG]
OLDtoNEW( i ]
| cou++;
IcouG++;

1+1;
icouG+1;

I —

}

}
} COLORindex[ic] = icou;

COLORindex[0] = 0;

for (ic=1; ic<=(xNCOLORtot): ic++) {
COLORindex[ic] = COLORindex[ic-1] +
! COLORindex[ic];

/ skkekkekkokkokkkekkokkokkkk

* MATRIX transfer *
sokokoksfoksdokoksdokFokFokkokok /

cm (5/5)

COLODindex[ic]:

Now it is 1D index.
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MC&ERCMOD LEER

MC

— FHESL, BRPEEEBWN(ZFDOEIITEHEEINTLNDS)

— FIZBHDPLGEVERERHZL

B EFIEOT, RERSELSHAREAA —/\—~vEDEETH
REIE T (RIERIFH -V DETERFRHEIEM) DA EEEHY

RCM

— RIFBEWVD, LNLVEAEL, REAF—/N—~"vrDEEZ
[F09<, A7 HMIBEZLETF

- BfaostihE—

RERIM DL TRIEIA —/N\—ANYFDEENDENVE

ENEWNEDMN?

B MNDIECT, D DOREBENDGENEVSTEDRIVAE

——

P




BHEM=>RFEA—/\—A Y&
hg A BEIDETENERHLOTHLRDIE 112174

do ic= 1, NCOLORtot
I$omp parallel do private(ip, ip1, i, WAL, k)
do ip= 1, PEsmpTOT
ipl= (ic—1)*PEsmpTOT + ip
do i= SMPindex (ip1-1)+1, SMPindex (ip1)
WVAL= W(i, 2)
do k= indexL(i—-1)+1, indexL (i)
WVAL= WVAL - AL (k) * W(itemL (k), Z)
enddo
W(i,Z)= WAL * W(i, DD)
enddo
enddo
I$omp end parallel do
enddo




fiZ R % : CM-RCM
« RCM+Cyclic Multicoloring (X AE, B8A, ZE{th)

- Fl&
— FTRCMEFHET
— Cyclic Multicoloring (CM) M & 1% R 5 (Nc)

— RCMMD1&H, (Nc+1)&H, @2Nc+1)&EHBH---ODLANILIZHE
JTHERZTIIBIZNDETS
— RCMMOKkZEH, (Nc+k)Z&H, 2Nc+k) &ZH---DLANILIZE
THERZTIKIBIZHEET S
— TkIA I NcJIZEL T, EENTI~NcITEfTTFEINT=BTET
e HEIIMCOEEZLRILKDIC, BDIEHEIZHEZ S
« RCMDEZELARILIZHLTINCID AL THEMITEERL TS
- 3LEICEDERDHIIKFHENR DM o5, Ne=Nc+1&L
TN PRYEL (ZIIFADLIRIEEY)







Nc=4, k=1:1,5,9,13L RN )L ZE{R




Nc=4, k=2:2,6,10,14L~ JL%&4R

4
+44

4



CM-RCM (No=4) : & | DI =5 it &

060060603
05 5D OC) G
+26+ 9+@*@*2 2+ 5*@
(44 27+1 o*@*@*zs 6
1 4*@*@*2&* 1*@*@*24
: 31*15*@*@*29 12 @*

EEEREAE

1
-1
=3: 16

16
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CM-RCM

. RITHEA
— INPUT.DAT CINCOLORtot=-Nc | & T B
— L2IZE N GA T AV ELTEAFH

o & (IMcmrem.f]FESEBI{ESLY
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500 T

® MC A RCM —CM-RCM ¢ Odyssey
o 1-CMG/12-cores,
RN 1283

| ~— (@:MC, A:RCM. -:CM-

450 :

/.

lteraions

300 |
[ A
§ terations RCM)
250 C C e
1 10 100 1000
Color #
10.00 2.0E-02 )
. A — - : ] -
- MC & ROM ——CW-RCM # Time/lteration
8.00 ® [

1.5E-02

6.00 | [ A
. _ ° _ ° /
I o o 1.0E-02

-
4.00 S L

SecC.

5.0E-03

200 |
8 Time (solver)
N S 0 OE400 NN e S
1 10 100 1000 1 10 100 1000
Color # Color #

e MC A RCM —CM-RCM

0.00




Iterations

149

Comparison of Reordering Methods
3D Linear Elastic Problems

« MC: Slow convergence, unstable for heterogeneous cases
(ill-conditioned problems).

 Cyclic-Mulricoloring + RCM (CM-RCM) is effective

90

(o]
o

~
o

(<2}
o

50

§ Homogeneous g~

1

10

color #

100

1000

Iterations

280

260

240

220

§ Heterogeneous o

A O [
e O
O 0 Eg
1 10 100 1000
color# @ MC
O CM-RCM

3D Linear-Elastic Problems with 32,768 DOF

A No reordering
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o THRITFIEDERIKIL?

« F—4&1)> % (Ordering) IZDULNT
— Red-Black, Multicolor(MC)
— Cuthill-McKee (CM), Reverse-CM(RCM)
— A —=31) 27 EIER DR

- FA—FN)T DEE
« F—FYLJ{FICCGEMDELE
e TILFATADZEZE (OpenMP) ~[]IFHT
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A—FVY 5 FEICCGEDEL

e [L2-color]M#egezTL1-sol]~NfHAIAL

« TPOI GENJIZEULT, INU,INL,IAL,IAUZ K & 7=

AT, Imcl, Temy, TremZRE 5L,

« AL, AUZFTLWWA—Z Y TIZELTEET 5,

 IJBHREH, GIL(RBEIZVIRBE)ZFHLLVA—S
U/b' —%L—Cn-l_ﬁ-g—%)

o VJILIN—ZME S,

s HFERPHNZHWWA—RYTIZRY,

« UCDT77MILZEZH 9 (OUPUT UCDZME.SN)




L1-s0|

MAIN
main

INPUT

control info.

POINTER_INIT

mesh info.

BOUNDARY_CELL
boundary meshes

CELIL_METRICS
area/volume

POI_GEN
matrix

SOLVER_ICCG

ICCG: METH=1

SOLVER_ICCG2
ICCG: METH=2

SOLVER_PCG
PCG: METH=3
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Minv{r}={z} (1/2)
Forward Substitution [VAIGIERGIN (= oAl

for (i=0; i<N; i++) {
WVAL = W[Z][i];
for (j=indexL[i]; Jj<indexL[i+1]; j++) {

WVAL —= AL[4] * W[Z][itemL[4]-1];
} = ,‘ﬂi L
W[Z][i] = WVAL * W[DD] [i]; ;éi‘ﬁzbgﬁ
} : kD112, D
(A CRERRNG s X
[ZIHNS:
for (i=N-1; i>=0; i--) { = WHMERSE
SW = 0.0; :
! DIz Z
for (j=indexU[i]; j<indexU[i+1]; j++) E;;é bﬁﬁ%{%ﬁ:@b
SW_+= AU[j] * W[2] [itemU[j]-1]; =L E LS
} =>A—=5F)27

W[z] [i]= W[Z] [i] - W[DD][i] * SW;
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Minv{r}={z} (2/2)
Forward Substitution [VAIGIERGN (= (P04l

for (icol=0; icol<NCOLORtot; icol++) {
for (1=COLORindex[icol]; i<COLORindex[icol+l]; i++) {

WVAL = W[Z] [i];
for (j=indexL[i]; j<indexL[i+1]; j++) {
WVAL —-= AL[Jj] * W[Z] [itemL[]j]-1];

}
W[z] [1] = WVAL * W[DD] [i];

BBIZI/NABIZ1F, &9, BEDI& ]

(icoh) ISADEIZEL TS,
GBICBICELTWAERIISELIIKFE,
BEEMEZFT-TE0N,

=7 — SR 77 I ERA e
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Minv{r}={z} (2/2)
Forward Substitution [VAIGIERGN (= (P04l

for (icol=0; icol<NCOLORtot; icol++) {
for (1=COLORindex[icol]; i<COLORindex[icol+1l],; i++) {
WVAL = W[Z] [1i];
for (j=indexL[i]; j<indexL[i+1l]; j++) {
WVAL -= AL[j] * W[Z] [itemL[j]-1];
}
W[z] [1] = WVAL * W[DD] [1];

ZDIL—T(ZBRNDIL—T) (L5, I
IICETEEETH S,




Files

cd <$P-1L.2>/solver/run

cd ../src

make

ls ../run/L2-so0l
L2-sol

156



Running the Program
<$P-L2>/solver/run

L2-sol
Poisson Solver
FVM

l

)

INPUT.DAT
Control File

J

—
—

test.inp

ParaView File
w

157
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Running the Program
Control Data: <$P-L2>/solver/run/INPUT.DAT

20 20 20 NX/NY/NZ
1.00e—00 1.00e-00 1.00e—00 DX/DY/DZ
1.0e-08 EPSICCG
« NX, NY, NZ ST
— ZAMEDAv 2
« DX, DY, DZ NZ
- REROXY,ZHADES L LAY
« EPSICCG NX

— ICCGIED YR HIEE



JOY5SLNDELT

<$P-L2>/solver/run/

S cd <$P-1L2>/solver/run
S ./L2-sol

You have 8000 elements.
How many colors do you need ?
#COLOR must be more than 2 and
#COLOR must not be more than 8000
CM if #COLOR .eg. O
RCM if #COLOR .eq.-1
CMRCM if #COLOR .le.-2

=> XXX

$ 1ls test.inp
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FELVTWS/RE: =R R 7V ARER

W7V ARER

BEREHSE
BFEXRTHIETISIVIRX

oz=27__ MHITO=0 EEROHFHITIIR

= dfloat (i+j+k) X BEEAKTE
i

(1, jrk)=XYZ(icel/ (1,2,3))
X




Main Program

#include <stdio.h> ...

int

main()

error:

double *WK;
int NPL, NPU; ISET, ITR, IER; icel, ic0, i;
double xN, xL, xU; Stime, Etime;

ifEINPUT()) oto error;

i f (POINTER_INIT()) goto error;
i f (BOUNDARY _CELL ()) goto error;
!fECELL_METRICS()) goto error;
if (POI_GEN()) goto error;

ISET = 0;

WK = (double *)malloc (sizeof (double)*ICELTOT) ;

if (WK == NULL) { 5

fprintf (stderr, “Error: %s¥n”, strerror(errno));

~_ goto error;} _ _ _ _

i f (solve_ICCG_mc (ICELTOT, NL, NU, indexL, itemlL, indexU, itemU,
D, BFORCE, PHI, AL, AU, NCOLORtot, COLORindex,
EPSICCG, &ITR, &IER)) goto error;

for (ic0=0; icO<ICELTOT; icO++) { - D[
icel = NEWtoOLD[icO]: Renumbering of “PHI

WKLicel-1] = PHI[icO]; to original numbering

for (icel=0; icel<ICELTOT; icel++) {
PHI[icel] = WK[icel];

i f (OUTUGD ()) goto error;
return 0;

return -1;
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OMP-2

MAIN
AMMUI—F2

£:3

JO55L0O%

INPUT

HEHT7 A L&A
INPUT.DAT

POINTER_INIT

Ay aTrAILERIA
mesh.dat

BOUNDARY_CELL
0=0ZRET DERDER

MC
RIVFhS—H—FI2 T

CELL_METRICS
RER KAEFOHE

CM
Cuthill-McKee
A—=5I)2T

POI_GEN
T aARITAETAHER,
BN DHE, EREH

RCM

Reverse Cuthill-McKee
F—=5I2T

SOLVE_ICCG_mc

ICCGiEY IL/N—
METHOD=1
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K& (1/2)
AR

EeAl -4 i)
D [N] R | AR, (N: AV a1 $=ICELTOT)
BFORCE [N] R | AiARIKIL
PHI [N] R | FREBARINIL
indexL[N+1] | I |&BITOIEZFLT=ASE(CRS)
indexU[N+1]
NPL, NPU I |EBLET=AMN#EE(CRS)
itemL [NPL] I |EFLT=A/S F|ES) (CRS)
itemU[NPU]
AL [NPL] R |EZFLT=AMS URE) (CRS)
AU [NPU]
NL, NU I | BITOEZELET=ZAMSDZKRE (Z ZTIX6)
INL[N] I | ZRTOEFOLT=FrESHK
INU[N]
IAL[N] [NL] I | BITOEEOLT=ZARSHFILT H5EFS

IAU[N] [NU]




K& (2/2)

164

ECAl - 24 pi, N =B

NCOLORtot I | AJJERIZIEOrderingT{E (=22 0 MC, =0 : CM, =-1:
RCM, 2= : CMRCM) , FREANZITEE, VAV ERAND

COLORindex I |0, L-UVIZEENDBEREO—RITIEMRCS,

[NCOLORtot+1] COLORindex[icol] 2 HCOLORindex[icol+1]-1F
TOEZNicolZTBEHOH (LUL) ITEFEND,

NEWtoOLD [N] I | &= HE S ~OSRES

OLDtoNEW [N] I | HES=HE SO AL
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NEIBcell: [#EL T ERES
RHFEOEEE0

NEIBcell[icel][5] *

NEIBcell[icel][3]

NEIBcell[icel][0] < =l N E|Bcell[icel][1]

/ i= XYZ[icel][0]

j= XYZ[icel][1], k= XYZ[icel][2]
NEIBcell[icel][2] * icel= K*NX*NY + j*NX + i
NEIBcell[icel][4] RIS VERVIES + 1

NEIBcell[icel][1]= icel + 1 + 1
NEIBcell[icel][2]= icel — NX + 1
NEIBcell[icel][3]= icel + NX + 1
NEIBcell[icel][4]= icel = NX*NY + 1
NEIBcell[icel][5]= icel + NX*NY + 1




J00 S LDOER

#include <stdio.h> ...

int
main()

double *WK;
int NPL, NPU; ISET, ITR, IER; icel, ic0, i;
double xN, xL, xU; Stime, Etime;

ifEINPUT()) goto error;

i f (POINTER_INIT()) goto error;
i f (BOUNDARY _CELL ()) goto error;
!fECELL_METRICS()) goto error;
if(POI_GEN() goto error;

ISET = 0;

WK = (double *)malloc (sizeof (double)*ICELTOT) ;

if (WK == NULL) { B
fprintf (stderr, “Error: %s¥n”, strerror(errno));
goto error;}

i f (solve_ICCG_mc (ICELTOT, NL, NU, indexL, itemlL, indexU, itemU,
D, BFORCE, PHI, AL, AU, NCOLORtot, COLORindex,

EPSICCG, &ITR, &IER)) goto error;

for (ic0=0; icO<ICELTOT,; icO++) {
icel = NEWtoOLD[icO];
WK[icel-1] = PHI[icO0];

for (icel=0; icel<ICELTOT; icel++) {
PHI[icel] = WK[icel];

i f (OUTUCD()) goto error;
return 0;

error:
return -1;
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#include “allocate. h”
extern Int
POI_GEN (void)
{ int nn;
int icO, icN1, icN2, icN3, icN4, icN5, icNG6;
int 1, Jj, k, ib, ic, ip, icel, icou, icol, icouG;
int 11, jJ, kk, nnl, num, nr, jO, j1;
double coef, VOLO, Si1t, E1t;
int isL, ielL, isU, ieU;
NL=6; NU= 6;
IAL = (int *x)allocate matrix(sizeof (int), ICELTOT, NL) ;

IAU = (int *x)allocate matrix(sizeof (int), ICELTOT, NU) ;
BFORCE

D
PHI

INL = (int *)al locate_vector (sizeof (int), ICELTOT) ;
INU = (int *)al locate_vector (sizeof (int), ICELTOT) ;

for (i = 0; i <ICELTOT ; i++) {
BFORCE[i]=0.0;
D[i] =0.0; PHI[i]=0.0;

(double *)al locate _vector (sizeof (double), ICELTOT) ;
(double *)al locate_vector (sizeof (double), ICELTOT) ;
(double *)al locate vector (sizeof (double), ICELTOT) ;

167

poi_gen (1/8)

INL[i] = 0; INU[i] = O;
for (j=0; j<6; j++) |

IAL[i1[j]=0; TAULi1[j]=0;

for (i = 0; i <=ICELTOT ; i++) {

indexL[i] = 0; indexU[i] = 0;

/ skkskskokskokskokskskokskeokskokokokokkkk ko ko

al locate matrix
$kdokrkkokkokkkokkokkokdokokkokk /

void#x al locate_matrix(int size, int m, int n)

al locate. ¢

void **aa;

int i;

if ( (aa=(void ** )malloc( m * sizeof (void*) ) ) == NULL ) {
fprintf (stdout, “Error :Memory does not enough! aa in matrix ¥n”);

exit(1);
if ( ( aa[0]=(void * )malloc( m * n * size ) ) = NULL ) {
fprintf (stdout, “Error :Memory does not enough! in matrix ¥n”);

exit(1);

for (i=1;i<m;i++) aalil=(char*)aali-1]+size*n;
return aa;

}
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for (icel=0; icel<ICELTOT; icel++) {

% = Netbeel 1 fiee B} poi_gen (2/8)
icN3 = NEIBcel I [icel][2]; —

icN4 = NEIBcel |l [icel][3];

icN5 = NEIBcel | [icel][4]: NEIBcellficel][5] |
icN6 = NEIBcel |l [icel][5]; NEIBcell[icel][3]
if(icNd 1= 0) {
icou = INL[icel] + 1; _
IAL[icel]l[icou-1] = icNb; NEIBcell[icel][0] NEIBcell[icel][1]
| INL[icel] = icou;
if(icN3 1= 0) { zy y  NEIBeelllicel][2] *
icou = INL[icel] + 1;
IAL[icel][icou-1] = icN3; |4 NEIBcell[icel][4]
INL[icel] = icou; X
} T4
if(icNT 1= 0) | NEIBcell[icel][4]= icel — NX*NY + 1
icou = INL[icel] + 1; NEIBcell[icel][2]= icel — NX +1
[AL[icel][icou-1] = icN3; NEIBcell[icel][0]= icel — 1
} INL[icel] = icou;
“icel” starts at 0 @ “IAL” starts at 1
1213
8|9 [10] 11 9 10|11 |12
4 | 516 |7 5| 6|78

0O(1]2]3 11234




for (icel=0; icel<ICELTOT; icel++) {

icN1 = NEIBcell[icel][0];
icN2 = NEIBcell[icel][1];
icN3 = NEIBcel |l [icel][2];
icN4 = NEIBcel |l [icel][3];
icN5 = NEIBcel |l [icel][4];
icN6 = NEIBcell[icel][5];

if(icN2 1= 0) {
icou = INU[icel] + 1;

IAU[icel][icou-1] = icN2;
| INU[icel] = icou;
if(icNd 1= 0) {

icou = INU[icel] + 1;

IAU[icel][icou-1] = icN4;
} INU[icel] = jicou;
if(icN6 1= 0) {

icou = INU[icel] + 1;

IAU[icel][icou-1] = icN6;

INU[icel] = jcou;

}
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poi_gen (3/8)

NEIBcell[icel][5]
NEIBcell[icel][3]

NEIBcell[icel][0] NEIBcell[icel][1]

Z) y NEIBceII[iceI][Z]*
Z, NEIBcell[icel][4]

X

=/
NEIBcellficel][1]= icel + 1 +1

NEIBcell[icel][3]= icel + NX  + 1
NEIBcell[icel][5]= icel + NX*NY + 1

“icel” starts at 0 @ “IAU” starts at 1
14 | 15 13114 15| 16

12|13
89|10 11 9 11011 12
4 156 |7 5|6 |78

0123 112134




POI_gen
(4/8)

N111:

fprintf (stderr, “¥n¥nYou have%8d elements¥n”, ICELTOT) ;
fprintf (stderr, “How many colors do you need 7¥n”);
fprintf (stderr, © #COLOR must be more than 2 and¥n”);

ICELTOT) ;

fprintf (stderr, ” #COLOR must not be more than%8d¥n”,
fprintf (stderr, ” if #COLOR= 0 then CM ordering¥n”);
fprintf (stderr, “ if #COLOR=-1 then RCM ordering¥n”);
fprintf (stderr, ” if #COLOR<-1 then CMRCM ordering¥n”) ;

fprintf (stderr, "=>¥n");
fscanf (stdin, “%d”, &NCOLORtot) ;
i f (NCOLORtot == 1 && NCOLORtot > ICELTOT) goto N111;

OLDtoNEW = (int *)calloc (ICELTOT, sizeof (int));
i f (OLDtoNEW == NULL) {

fprintf (stderr, “Error: %s¥n”, strerror(errno));

return -1;

}
NEWtoOLD = (int *)calloc (ICELTOT, sizeof(int));
i f (NEWtoOLD == NULL) {

fprintf (stderr, “Error: %s¥n”, strerror (errno));

return -1;

]
COLORindex = (int *)calloc (ICELTOT+1, sizeof (int));
i f (COLORindex == NULL) {

fprintf (stderr, “Error: %s¥n”, strerror(errno));

return -1;
i f (NCOLORtot > 0) {
MG (ICELTOT, NL, NU, INL, IAL, INU, IAU,

} else if(NCOLORtot == 0) {
CM(ICELTOT, NL, NU, INL, IAL, INU, IAU,

} else if (NCOLORtot ==-1) {
RCM (ICELTOT, NL NU, INL, IAL, INU, IAU,

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW);

} else if (NCOLORtot <-1) {
CMRCM (ICELTOT, NL, NU, INL, IAL, INU, IAU,

&NCOLORtot, COLORindex, NEWtoOLD, OLDtoNEW) ;

J

fprintf(§tderr, “¥n#t TOTAL COLOR number%8d¥n”, NCOLORtot);

return 0
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indexL =

(int *)allocate_vector (sizeof (int), ICELTOT+1) ;
indexU =

(int *)al locate_vector (sizeof (int), ICELTOT+1) ;

for (i=0; i<ICELTOT; i++) {
indexL[i+1]=indexL[i]+INL[i];
indexU[i+1]=indexU[i]+INU[i];

]

NPL = indexL[ICELTOT];
NPU = indexULICELTOT];
itemL = (int *)allocate_vector (sizeof (int), NPL) ;
itemU = (int *)allocate_vector (sizeof (int), NPU) ;

AL = (double *)al locate_vector (sizeof (double), NPL) ;
AU = (double *)allocate _vector (sizeof (double), NPU) ;

memset (itemL, 0, sizeof (int)*NPL);
memset (itemU, 0, sizeof (int)*NPU);
memset (AL, 0.0, sizeof (double)*NPL) ;
memset (AU, 0.0, sizeof (double)*NPU) ;

for (i=0; i<ICELTOT; i++) {

for (k=0;K<INL[i];k++) {

kk= k + indexL[i];
itemL[kk]l= IAL[i][k];

}
for (k=0;k<INU[i] ;k++) {
kk= k + indexU[i];

PO
CHLAREIEHETLLY

(5/8)

v

%vﬂ‘ﬂ‘f’éﬁ
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Eo5 -4 i

D[N] R |®ARS, (N:ErAvPa$= ICELTOT)
BFORCE [N] R |HIORIRL

PHI [N] R | REEARILIL

indexL[N+1] | I |&BTNDIEZFLT=AMDE(CRS)
indexU[N+1]

NPL, NPU I |EFLET=AMSHBE(CRS)
itemL[NPL] I |ESBLT=AMS FIES) (CRS)
itemU[NPU]

AL[NPL] R |EFLET=H/D (%% (CrRS)
AU[NPU]

} itemU[kkl= TAULi1[K]; start at 1
]
free (INL) ; free (INU) ;
free (IAL) ; free(IAU) ; 9 /10|11 112
5|16 |7]|8
11234

“itemL” /"itemU”

for (i=0; i<N; i++) {
qlil= DI[i] * plil;
for (j=indexL][i]; j<indexL[i+1]; j++) {

q[i] += AL[j] * plitemL[j]-1];

}
for (j=indexU[i]; j<indexU[i+1]; j++) {

q[i] += AU[j] *

plitemU[j]-1];




icel<N; icel++) {
NEWtoOLD[icel];
NEIBcel | [icO-1][0];

icO

for (icel=0;
ioNT =

icN2 = NEIBcel I [icO-1][1];
icN3 = NEIBcel I [icO-1][2];
icN4 = NEIBcel | [icO-1][3];
icN5 = NEIBcel I [icO-1][4];

icN6 = NEIBcell[ic0-1][5];
VOLO = VOLCEL[icO];

isL =indexL[icel 1];
isU =indexU[icel 1];

if(icN5 1= 0) |
icN5 = OLDtoNEW[icN5-1];
coef = RDZ * ZAREA;
Dlicel] —= coef;

if (icN5-1 < icel) |
for (j=isL; j<ieL; j++) {
if(itemL[j] == icNb) {
AL[j] = coef;
break;
}
J

} else {
for (j=isU; j<ieU; j++) {

if(itemU[j] == icNb) {
AULj] = coef;
break;

}

}
}
}

ieL =indexL[icel+1];
ieU =indexU[icel+1];

POI_

gen (6/8)

RBDOETE (EFRmELU)
N
® ,D @
o _J B O
W DX ?‘ DX E
Y DY
o ®
S
9?E'__'¢% Z&)7'F ¢%V'__'¢z 1337'F
Ax Ax
Q?Af ¢% ZS}:'F ¢?§ __gb Uf;ZSXZS}7
Ay Ay
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FLWESTIT1&K?

13

14

15

9

10

11

5

6

/

1

2

3

o RCMZELIEZRILFHAS—IZ&BA—FY %D,
- AEFIEIZEREZESNILATILNS, EEEDHITIE:

— B18(GEVE):1,2,3,4,5(]18:1,3,6,8,9)

— F£26 (G&ELVE) :6,7,8,9,10(18:2,4,5,7,10)

— B3/ (EH) 11,12,13(18:11,13,16)

— FE48(F|E) :14,15(18:12,14), 58 (F&) :16(1A:15)




OMP-2

[FHLWE ST 1&E?(FS)

13114 15|16
9 |10 11 12
5| 6|78
112|134
NCOLORtot= 5
COLORindex[0]=

« NEWtoOLD, OLDtoNEW
— OLDtoNEW[6-1]=3, NEWtoOLD[3-1]=6

O, COLORindex|[1l]=
COLORindex[3]= 13, COLORindex[5]= 15, COLORindex[6]= 16

5, COLORindex[2]= 10
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for (icel=0; icel<N; icel++) |

o < NEoDicel ] poi_gen (6/8)

icN2 = NEIBcel | [icO-11[1]" |
icN3 = NEIBcel I [ic0-1][2]; NEIBcellioello] ,
icN4 = NEIBcel I [ic0-1][3]; NEIBcellficel][3]
icN5 = NEIBcel | [ic0-1][4];
icN6 = NEIBceI![icQ—1][5];
VOLO = VOLCEL[ic0]: NEIBcellficel][0] NEIBcell[icel][1]
isL =indexL[icel 1]; ieL =indexL[icel+1];
isU =indexU[icel 1; ieU =indexU[icel+1];
if(icN5 1= 0) { NEIBcell[icel][2]
icN5 = OLDtoNEW[icN5-1]; .
D[lGel] i G?ef' ¢neib[icel][0] _¢icel AyAZ+
iT(icN5-1 < icel) {
for (j=isL; j<ielL; j++) {
|f(|tem|_[J:| == |CN5) { ¢neib[icel][1]_¢icel A A +
ALLj] = coef; Ax Yoz
break;
| } ¢neib[icel][2] _¢icel AzAx +
} else { Ay
for (j=isU; j<ieU; j++) { & —¢
if(itemU[j] == jcNb) { neib[icel][3] icel AzAx +
AU[j] = coef; Ay
} break;
} ¢neib[icel][4] _¢icel AXAy‘l'
} Az
} ¢neib[icel][5] _ ¢icel .
AxAy + f,.,AxAyAz =0

M cel



for (icel=0; icel<N; icel++) {
icO0 = NEWtoOLD[icel];

icN1 = NEIBcel I [icO-1][0];
icN2 = NEIBcel I [icO-1][1];
icN3 = NEIBcel I [ic0-1][2];
icN4 = NEIBcel | [icO-1][3];
icN5 = NEIBcel I [icO-1][4];
icN6 = NEIBcel | [icO-1][5];

VOLO = VOLCEL[icO0];

isL =indexL[icel 1];
isU =indexU[icel 1;

if(icNb 1= 0) |
icN5 = OLDtoNEW[icN5-1];
coef = RDZ * ZAREA;
D[icel] —= coef;

if(icN5-1 < icel) |
for (j=isL; j<ielL; j++) {
if(itemL[j] == icNb) {

AL[j] = coef;
break ; icN5A%icel LY /&
} } ThIET=AKS

} else {
for (j=isU; j<ieU; j++) {

if(itemU[j] == icNb) {
AULj] = coef;
break;

}

}
J
}

NEIBcell[icel][0]

ieL =indexL[icel+1];
ieU =indexU[icel+1];
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poi_gen (6/8)

NEIBcell[icel][5]

NEIBcell[icel][3]

NEIBcell[icel][1]

NEIBcell[icel][2]

NEIBcell[icel][4]

¢neib[icel][0] _¢icel AyAZ 4+
Ax

¢%amﬂmnu]"¢z
Ax

¢%amwduz]_12
Ay

“l AyAz +

“l AzAx+

neiblicel][3] icel AZA)C
Ay

_|_

¢neib[icel][4] ¢icel AXAy'l'
Az

¢neib[iC€E ¢"C€l AxAy + ficez

AxAyAz =0



for (icel=0; icel<N; icel++) {
icO0 = NEWtoOLD[icel];

icN1 = NEIBcel | [ic0-1] [0] ;
icN2 = NEIBcel | [icO-1] [1];
icN3 = NEIBcel | [ic0-1] [2];
icN4 = NEIBcel | [ic0-1] [3];
icN5 = NEIBcel | [ic0-1] [4];

icN6 = NEIBcel | [ic0-1][5];
VOLO = VOLCEL[icO0];

isL =indexL[icel 1]; ieL =indexL[icel+1];
isU =indexU[icel 1; ieU =indexU[icel+1];
if(icN5 1=0) {

icN5 = OLDtoNEW[icN5-1];
coef = RDZ * ZAREA;
D[icel] —= coef;

if(icN5-1 < icel) |
for (j=isL; j<ieL; j++) |
if(itemL[j] == icNb) {
AL[j] = coef;
break;

}

} else {
for (j=isU; j<ieU; j++) {
if(itemU[j] == icNb) {
AULj] = coef;
break;

] } icN5A%icel&Y K=

| it = R
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poi_gen (6/8)

NEIBcell[icel][5]

NEIBcell[icel][3]

NEIBcell[icel][0] NEIBcellficel][1]

NEIBcell[icel][2]

NEIBcell[icel][4]

¢neib[icel][0] _¢icel AyAZ 4+

¢%amﬂmnu]"¢z

cel
AyAz +
A Y
¢neib[icel][2] _¢icel AZAX‘I‘
Ay

neiblicel][3] icel AZAX
Ay

_|_

¢neib[icel][4] ¢icel A)CAy'l'
Az

¢neib[iC€E ¢icel AXAy + f;'cel

AxAyAz =0



if(icN6 1= 0)
icN6 = OLDtoNEW[icN6-1];
coef = RDZ * ZAREA;
D[icel] —= coef;

if(icN6-1 < icel) |
for (j=isL; j<ieL; j++) {
if(itemL[j] == icN6) {
AL[j] = coef;
break;
}
}

} else {
for (j=isU; j<ieU; j++) |

if(itemU[j] == icN6) {
AULj] = coef;
break;

}

}
}
}

ii = XYZ[ic0-1][0]; LEDERIZHEST

jj = XYZ[ic0-1][1]; &
kk = XYZ[ic0-1][2]; BFORCERTH

BFORCE[icel]= —(double) (ii+jj+kk) * VOLO;

poi_gen (7/8)

¢neib[icel][0] _ ¢icel AyAZ +
Ax

¢neib[icez][1] _ ¢icel Ay Az +

Ax

¢neib[icel][2] o ¢icel AZAX"‘

Ay
¢neib[icel][3] _ ¢icel MAX"‘

Ay

¢neib[icel][4] o ¢icel AxA

+
Az ’

¢neib[icel][5] B ¢icel AxAy + ][l
Az

cel

AxAyAz =0
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for (ib=0: ib<ZmaxCELtot: ib++) { ' 8 /8
b0 ibnascEList; poi_gen (

coef = 2.0 % RDZ ¥ ZAREA:

icel = OLDtoNEW[icO];

Dlice|-1] = coef: RO E (EREUN)
FR#OFE(EFRmE)
return O, :""""""_"""""""_"""""""_":
E O=—-0, i
—I—— Z-Zmax
DZ
o o o
¢=¢o
o o O
o o O

RREOMNMIIIC, RESHARLT, ER
0=—0,LEDFIEERNHAHERTE RRE
TTE=0&7ED),



JA55LDOWRER

#include <stdio.h> ...

int
main ()

error-:

double *WK;
int NPL, NPU; ISET, ITR, IER; icel, ic0, i;
double XN, xL xU; Stime, Etime;

if (INPUT()) goto error;
i f (POINTER_INIT()) goto error;

i f (BOUNDARY CELL ()) goto error; EIz THLL B E(ZLE=HHT
if (CELL_METRIGCS()) goto error; = = =
i T (POI_GEN()) goto error; ATE, RiESh TS,
ISET = 0;
WK = (double x)mal loc (sizeof (double)*ICELTOT) ;
if (WK == NULL) {
fprlntf(stderr “Error: %s¥n”, strerror (errno));
goto error;}

|f(solve ICCG_mc (ICELTOT, NL, NU, indexL, itemL, indexU, itemU,
D, BFORCE, PHI, AL, AU, NCOLORtot COLORindex.

EPSICCG, &ITR, &IER)) goto error;
for (ic0=0; icO<ICELTOT; icO++) {
icel = NEWtoOLD[icO];
WKLicel-1] = PHI[icO];

for (icel=0; icel<ICELTOT; icel++) {
PHI[icel] = WK[icel];

}
i f (OUTUGD ()) goto error;
return 0;

return -1;

CORRT, R, HANIRL
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solve ICCG_mc (1/7)

#include <stdio.h>
#include <stdlib. h>
#include <string.h>
#include <errno.h>
#include <math. h> etc.

#include “solver_ICCG. h”

extern int
solve ICCG _mc(int N, int NL, int NU, int *indexL, int *itemL, int *indexU,
int *itemU,
double *D, double *B, double *X, double *AL, double *AU,
: int NCOLORtot, int *COLORindex, double EPS, int *ITR, int *IER)
double *xW;

double VAL, BNRM2, WVAL, SW, RHO, BETA, RHO1, G1, DNRM2, ALPHA, ERR;
int i, j, ic, ip, L, ipl;

int R = 0;
int Z=1,;
int @ =1,
int P = 2;
int DD = 3;



182

solve ICCG_mc (2/7)

W = (double *k)malloc(sizeof (double *)*4) Compute r(®= b-[A]x(?
F (N == NULL) { Pt
fprintf (stderr, “Error: %s¥n”, strerror(errno)); for 1= 1, 2,
i'eturn -1; solve [M]z@G D= r@E-1
PO p,_,= ri-b z@E-1
for (i=0; i<4; i++) { F i1
WLil = (double *)malloc (sizeof (double)*N) ; L 1=
if(WLi] == NULL) { pL= 70
fprintf (stderr, “Error: %s¥n”,
} strerror (errno)); return -1; else
] Bi—l= Pi1/Pis

pil= z(-1 4 B pG-D

Wl1ILil = 0.0; AL RAX—5fE gqli'= [A]p)
WE21Ti1 = 0.0: )
W31 [i] = 0.0; o, = p;/pPgh
J x (M= x(-1 4 g.p
r= pG-1 — o g
for (ic=0; ic<NCOLORtot; ic++) { heck *
for (1=COLORindex[ic]: i<COLORindex[ic+11: i++) | check convergence |r|

VAL = D[i];
for(j:inéle[i]: j<indexL[i+1]; j++) {
VAL-= AL[j]*AL[j]+W[DD] [itemL[j] - 11;

\;V[DD][i] =1.0 / VAL;

0]
3
Q.
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solve ICCG_mc (2/7)

W = (double **)malloc(sizeof (double *)*4) ;

if (W == NULL) {
fprintf (stderr, “Error: %s¥n”, strerror(errno));
return -1; , -1
i—1
_ 2 4
for (j=0; i<4; i+ | d,=\la,— ) l,”-d, | =I,
WLi] = (double *)malloc (sizeof (double)*N) ;
if W[i] == NULL) | k=1
fprintf (stderr, “Error: %s¥n”,
strerror (errno)); return -1;
}
for (i=0; i<N; i++) { i1 —1
\)I(V%H [?]O'—O(;) 0; 2 -1
W[2][=] = 0.0: AEZEBIE di =| 4y~ Ay 'dk — lii
} WI31[i] = 0.0; AL RAF*—n R =1
for (ic=0; ic<NCOLORtot; ic++) { W[DD][i]: d.
for (i=COLORindex[ic]; i<COLORindex[ic+1]; i++) { D/l
VAL = D[il; [i]. a;

for (j=indexL[i]; j<indexL[i+1]; j++) {
VAL-= AL[j]*AL[j]+W[DD] [itemL[j] - 11;

\}N[DD] [i]=1.0/ VAL itemL{j]: k

AL[j]: ay
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AL BIEIAL A X—nfZ

for (i=0; i<N; i++) {
VAL = D[i];
for (j=indexL[i]; j<indexL[i+1]; j++) {
VAL-= AL[j]*AL[j]1+W[DD] [itemL[j] - 1];

%[DD][i] = 1.0 / VAL;
Ai1BIZHNDSERTitemL[Kk] (&
BRNIEITELGAIE ]I
BLTWS = T—2KIFHEHERKR

BILT&IZEITHAERITIEEWIC

for (ic=0; ic<NCOLORtot; ic++) | RIFEMEZHE=UO GEHELALY)
for(J;EOnggn?ex[ic]: i<COLORindex[ic+1]; i++) {
= ],

for (j=indexL[i]; j<indexL[i+1]; j++) {
VAL—= AL[j]I*AL[jI*W[DD] [itemL[j] - 1];

}
W[DD] [i] = 1.0 / VAL;



solve ICCG_mc (3/7)

for (i=0; i<N; i++) {

J

VAL = D[i] * X[i];

for (j=indexL[i]; j<indexL[i+1]; j++)

} VAL += AL[j] * X[itemL[j]-1];

for (j=indexUL[i]; j<indexU[i+1]; j++)

| VAL += AU[j] * X[itemU[j]-1];
WIRI[i] = B[i] - VAL;

BNRM2 = 0.0;
for (i=0; i<N; i++) {

J

BNRM2 += B[i]*B[i];

{

{

Compute r(®= b-[A]x(®
for i= 1, 2,

xW= xE-D 4 g.p@
ri= rd-bH — g g
check convergence |r]|

0]
3
Q.
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*[TR = N;
for (L=0;

for (i=0,

186

solve |ICCG_mc (4/7)

L<GKITR) 5 L++) |

i<N; i++) |

WLZI[i]l = WIRILil;

for (ic=0;
for (i

icKNCOLORtot; ic++) {

=COLORindex[ic]; i<COLORindex[ic+1];

WVAL = W[Z][i];
for (j=indexL[i]; j<indexL[i+1]; j++)

WVAL —= AL[j] = W[Z][itemL[j]-1];

J
W[Z][i] = WVAL = W[DD][i];

}

for (ic=NCOLORtot-1; ic>=0; ic—) {

for (i=COLORindex[ic];

SW=20.0;

{

i<COLORindex[ic+1];

| ++)

| ++)

for (j=indexU[i]; j<indexU[i+1]; j++) {

} SW += AULj] * W[Z][itemU[j]-1];
WLZITil= W[ZI[i] - WIDDJL[i] * SW;

{

{

Compute r®= b-[A]x ()
for i= 1, 2,
solve [M]z(@ 1= r@(-1)

check convergence |r|

0]
o]
0.
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solve ICCG_mc (4/7)

for (L=0; L<(*ITR); L++) {

i 00fel=or Y=}

for (ic=0; ic<NCOLORtot; ic++) {
for(*;gELOR*?g??[jc]; i<COLORindex[ic+1]; i++) |
= | 1 —le S LS
for (j=indexL[i]; j<indexL[i+11; j++) | FJIJJEWJ\

WVAL —= AL[j] * W[Z][itemL[j]-1]; . .

P . W[DD][,]' em(J Ve ) Forward Substitution
1] = * 1],
" \Lhzr=r
)

for (ic=NCOLORtot-1; ic>=0; ic—) {
for (i=COLORindex[ic]; i<COLORindex[ic+1]; i++) {
SW=20.0;
for (j=indexU[i]; j<indexU[i+1]; j++) {
SW += AU[j] = W[Z][itemU[j]-1]1;

J
WCZ1Lil= WLZILil - WIDD][i] * SW;




188

solve ICCG_mc (4/7)

for (L=0; L<(*ITR); L++) {

i 00fel=or Y=}

for (ic=0; ic<NCOLORtot; ic++) {
for(*;ﬁELORw?g??[jc]; i<COLORindex[ic+1]; i++) |
= | 1 —le S LS
for (j=indexL[i]; j<indexL[i+11; j++) | FJIJJEWJ\

WVAL —= AL[j] * W[Z][itemL[j]-1]; . .

P . W[DD][,]' em(J Ve ) Forward Substitution
1] = * 1],
" (Lhzi=1r
)

for (ic=NCOLORtot-1; ic>=0; ic—) {
for (i=COLORindex[ic]; i<COLORindex[ic+1]; i++) {
SW=20.0;
for (j=indexU[i]; j<indexU[i+1]; j++) {
SW += AU[j] = W[Z][itemU[j]-1]1;

J
WCZ1Lil= WLZILil - WIDD][i] * SW;
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solve ICCG_mc (4/7)

for (L=0; L<(*ITR); L++) {

i 00fel=or Y=}

for (ic=0; ic<NCOLORtot; ic++) {
for(*;gELOR*?g??[jc]; i<COLORindex[ic+1]; i++) |
= | 1 —le S LS
for (j=indexL[i]; j<indexL[i+11; j++) | FJIJJEWJ\

WVAL —= AL[j] * W[Z][itemL[j]-1]; . .

P . W[DD][,]' em(J Ve ) Forward Substitution
1] = * 1],
" \Lhzr=r
)

for (ic=NCOLORtot-1; ic>=0; ic—) {
for (i=COLORindex[ic]; i<COLORindex[ic+1]; i++) {
SW=20.0;
for (j=indexU[i]; j<indexU[i+1]; j++) {
SW += AU[j] = W[Z][itemU[j]-1]1;

J
WCZ1Lil= WLZILil - WIDD][i] * SW;
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solve ICCG_mc (4/7)

for (L=0; L<(*ITR); L++) {

i 00fel=or Y=}

for (ic=0; ic<NCOLORtot; ic++) {
for(*;ﬁELORw?g??[jc]; i<COLORindex[ic+1]; i++) |
= | 1 —le S LS
for (j=indexL[i]; j<indexL[i+11; j++) | Hllﬁﬁ)\

WVAL —= AL[j] * W[Z][itemL[j]-1]; . .

P . W[DD][,]' em(J Ve ) Forward Substitution
1] = * 1],
" (Lhzi=1r
)

for (ic=NCOLORtot-1; ic>=0; ic—) {
for (i=COLORindex[ic]; i<COLORindex[ic+1]; i++) {
SW=20.0;
for (j=indexU[i]; j<indexU[i+1]; j++) {
SW += AU[j] = W[Z][itemU[j]-1]1;

J
WCZ1Lil= WLZILil - WIDD][i] * SW;




solve ICCG_mc (4/7)

for (L=0; L<(*ITR); L++) {

i 00l or Y=}

for (ic=0; ic<NCOLORtot; ic++) {
for (i=COLORindex[ic]; i<COLORindex[ic+1]; i++) {

WVAL = W[Z][i]; PWIRN .
for (il 11 Kigte 1) o | AERA
—= AL[j] * itemL[j]1-1]; A
A Forward Substitution
= k ;
R SO ERE

for (ic=NCOLORtot-1; ic>=0; ic—) {
for (i=COLORindex[ic]; i<COLORindex[ic+1]; i++) {

SW=0.0; 7. .
for (j=indexU[i]; j<indexU[i+1]; j++) { 1&3&1t)\

SW += AU[j WiZl[itemULjl-11; . .
] I e S Backward Substitution
WLZILil= W[Z]Li] - WIDD][i] = SW;

- (D1 Yz}={}
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solve |ICCG_mc (4/7)

for (L=0; L<(*ITR); L++) {

i 00l or Y=}

for (ic=0; ic<NCOLORtot; ic++) {
for (i=COLORindexTicl; i<COLORindex[ic+1]; i++) {

BELEDTTHERFEEATE . ., | BIERA

mREAEL: LLiT-10; Forward Substitution

i= COLOR]ic], COLOR(ic+1) ( L){Z} _ {r}

iz COLOR]Jic+1], COLOR]ic], -1

for (ic=NCOLORtot-1; ic>=0; ic—){ | RIERA
for(é\T’CQLgl.R(l)r;ldex[lc]; i<COLORindex[ic+1]; i++) { BaCkward SUbStitUtiOn

for (j=indexU[i]; j<indexU[i+1]; j++) {
SW += AU[ ] = W[Z][itemU[j]-1];

J
WLZ1[il= W[ZI[il - WIDD][i]l * SW;

- (DL fz}={z}
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Forward/Backward Substitution
BIERIBXA

for (i=0; i<N; i++) { for (ic=0; ic<NCOLORtot; ic++) {
WVAL = W[Z][i]; for (i=COLORindex[ic]; i<COLORindex[ic+1]; i++) {
for (j=indexL[i]; j<indexL[i+1]; j++) { WVAL = W[Z][i];
WVAL —= AL[j] * W[Z][itemL[j]-171; for (j=indexL[i]; j<indexL[i+1]; j++) {

WVAL —= AL[j] = W[Z][itemL[j]-1];

J
W[Z][i] = WVAL = W[DD][i]; }
W[Z][i] = WVAL = W[DD][i];

for(éﬁN—16 6}=O: i—) | }
for?j=]n&exU[i]; j<indexU[i+1]; j++) { for (ic=NCOLORtot-1; ic>=0; ic—) {
} SW += AU[j] = W[ZI[itemU[j1-17; for(éwCQLgRéndex[ic]: i<COLORindex[ic+1]; i++) {
WLZILil= W[ZI[i]l] - W[IDD][i] = SW; forzj=}naexU[i]; j<indexU[i+1]; j++) {
} SW += AU[j] * W[Z][itemU[jI-11;
WCZIL[il= W[Z]I[i] - WIDD][i] * SW;
—

}
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solve |ICCG_mc (5/7)

/****************

* RHO = {r} {z} *
sokkkkRRRRR KRR KAk

RHO = 0.0;
for (i=0; i<N; i++) {
RHO += WLRILil * W[ZI[il;

/********************************
* {p} = {z} if ITER=0  =*
* BETA = RHO / RHO1 otherwise *

********************************/

if(L ==0) {
for (i=0; i<N; i++) |
WIPIL[i]l = W[Z]Li]l;
} else {

BETA = RHO / RHO1;
for (i=0; i<N; i++) {

WLPILil = WLZIL[il + BETA * W[P]L[i];

Compute r(®= b-[A]x()
for 1= 1, 2,
solve [M]z@ D= r(-1)
P, ,= ri-1 zGE-1)
if i=1
pM= z(0
else
B:i1= Pi-1/Pis
pil= zG1 4 B pG-D
endif
qP'= [Alp™
a, = p;,/pHg
x(= x(1 4 o,p)
= G- — o g
check convergence |r|



solve |ICCG_mc (6/7)

/FkkokskkskkokdokFkKokok (0)= p— (0)
% {a} = [A]{p] * Comptllte r b-[A]x
****************/ m 1= 1 ’ 2 ’
(i-1)= 4~ (i-1)

for (i=0; i<N; i++) [ solve [M]z™" "= r

VAL = DLil * W[PI[i]: | p, = ri1 zE-D

for (j=indexL[i]; j<indexL[i+1]; j++) { T

VAL += AL[j] * W[PI[itemL[j1-11; if i1i=1

} o _ , p M= 7(0)

for (j=indexU[i]; j<indexU[i+1]; j++) {

} VAL += AU[j] * W[P][itemU[j]-1]; else

WIQILi] = VAL; Bii= Pia/Pis
} pi= zG-D 4 B pE-D

x (= xG-1 4 g p
= pl-1 — g g
check convergence |r|

0]
3
0.
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solve ICCG_mc (7/7)

/************************
* ALPHA = RHO / {p} {q} *
************************/
C1 =0.0;
for (i=0; i<N; i++) {

Cl1 += W[PI[i]l = W[QI[i];

J
ALPHA = RHO / C1;

/***************************
* {x} = {x} + ALPHA * {p} *
* {r} = {r} - ALPHA * {qg} =*
***************************/
for (i=0; i<N; i++) {
X[i] += ALPHA * W[P][i];
WIRI[i] -= ALPHA * W[Q][i];

DNRM2 = 0.0;
for (i=0; i<N; i++) {
DNRM2 += W[R] [iJ+W[RI[i]:

ERR = sqrt (DNRM2/BNRM2) ;
if((L+1)%100 ==1) {

fprintf (stderr, “%5d%16. 6e¥n”, L+1, ERR);

J
if (ERR < EPS) {
*[ER = 0; goto N90O;

} else {
RHO1 = RHO;

J
*[ER = 1;

Compute r(®= b-[A]x(9)

for

0]
3
0.

solve [M]zG& D= G-l
p,_,= ri1b zG-1)
.
if i=1
pM= 70

check convergence |r|
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